


Overhead Distribution Construction Manual Section 5

Ver. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-2



Overhead Distribution Construction Manual Section 5

SECTION 5 — SWITCHES, FUSES, RECLOSERS &

SECTIONALISERS

5 SECTION 5 — SWITCHES, FUSES, RECLOSERS & SECTIONALISERS ....coiiiiiiiiiiieeeee e, 3
5.1 LV ISOIGLONS / FUSES oo e e 4
5.2 LVABC = 1SOIATOIS / FUSES ... e 6
5.3 HV EDO FUSES ..ottt ettt e e et e s 10
B4 HV LINKS et 22
5.5 AN Break SWITCNES. .. .o 28
50 RECIOSEIS ..t 32
5.7 SECTIONAIISEIS ittt 41
5.8  L0ad Break SWITChES . ..o 56
5.9 Poletop SteeIWOIrK DETAIIS.....cciiiiie e 68

For installation on Titan Poles, refer to Section 10.3.

Rev. 2.1

Switches, Fuses, Reclosers and Sectionalisers Page 5-3



Overhead Distribution Construction Manual Section 5

5.1LV Isolators / Fuses

5.1.1 LV Open Wire - Crossarm Mounted Isolators / Fuses

[ N

1 [ 2 [ 3 [ L 5
140 280 (750) 420
A
e - & e o e
T il T il
\\ﬁ NEUTRAL
B
N,
C
D
3 B
LA S.l. No. 23.62.43 SWITCH FUSE 660V 630A
— oR (USE AT SUBSTATION OR TRANSITION TO LVABC)
S.l. No. 23.58.86 SWITCH ISOLATOR 660V 630A
d **** % (USE AT AN OPEN POINT BETWEEN LV CIRCUITS)
£
S,
F
Unit Assembly Store Type | Item Ref | Stock Item |Stock Iltem Description Quantity
F/LVI/PLM S 64A 236243 |SWITCHING GROUP,630A%660V X 1P CAMOUNT 1
| 75D 32276 BOLT,HEXHEAD M16 X 150MM GAL. C/W NUT 1
F/LVI2/PLM S 64A 236243 |SWITCHING GROUP,630A660V X 1P CAMOUNT 2
75D 32276 BOLT,HEXHEAD M16 X 150MM GAL. C/W NUT 2
G
F/LVI3/PLM S 64A 236243 |SWITCHING GROUP,630A%660V X 1P CAMOUNT 3
75D 32276 BOLT,HEXHEAD M16 X 150MM GAL. C/W NUT 3
H APL Nos
F/LV/1/PLM
F/LV/2/PLM DIMENSIONS ARE IN MILLIMETRES
F/LV/3/PLM UNLESS OTHERWISE STATED
] © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
. = trad TasNetwork STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
o rading as lasNerworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oYy [7] 5 SCALE
212 5o 5 TasNetworks e
-2 Zkg § LV FUSES / ISOLATORS 1.5
= ©[z-[2S
<|2|a EoES CROSSARM - MOUNTED - OPEN WIRE
o |2 DRAWN (5 PRO-SOLUTIONS
Z |~
w |8 =< o DESIGNED BY | ELECTRO
x| o &
=8 |oo - 8 CHECKED BY HWESTBURY AL
— - =8| o
< a 25 g APPROVED BY | A KETLEY _ _ _ _ REVISION
= ZUEEES DATE APPROVED | 10/NAY/19 D OH[ EOOW SD OOW B

Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-4



Overhead Distribution Construction Manual

Section 5

5.1.2 LVABC —Isolators / Fuses

1 \ 2 \ 3 L 5
MICHAUD MULTIPHASE
SERVICE FUSE BRACKET
A S No. 32.34.07 S.I. No. 05.02.50 M12 X 100 COACH BOLT
8L4LB S.I. No. 05.02.26 M10 X 65 COACH SCREW
37267 M12 X 40 BOLT 81 USE WITH 160A FUSES
— - 64D OR 250A SOLID LINKS
S.I. No. 23.63.41
OR
USE WITH 400A LINKS
/__ ﬁw S.I. No. 23.63.26
B
FUSE/SWITCH USE OPERATING STICK
/FOR OPENING AND CLOSING
/  NOTE
J INSTALLING AND REMOVAL OF FUSE HOLDER SHOULD BE
C / DONE BY HAND WITH WORK GLOVES
ISOLATING/OPERATING
SCALE 15
D
[ TO INSTALL FUSE, ALIGN FUSE INTO
SLOT AND PUSH FORWARD
FUSE
£
VISUAL INDICATOR
WHEN FUSE HAS BLOWN TO REMOVE FUSE PUSH DOWN LEVER
AND PULL FUSE BACK
F
FUSE/BLADE HOLDER
[ SCALE 1:2.5
RATING TABLE
G MICHAUD K292 imem (64D ) S.1. No. 23.63.41
FUSES DIN 00 SERIES REFER DRAWING D-OHC-E003-SD-001
THROUGH FAULT CAPACITY 160 AMP FUSE
CONTINUOUS CURRENT RATING. 245 AVMP BLADE
RATED OPERATIONAL VOLTAGE 500V
SUITABLE FOR ALUMINIUMAND 6mm?2UP TO 95mm?
COPPER CONDUCTORS SIZES
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
% trading as TasNetworks OR TRANSHITIED B ANY NEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy TNLE SCALE
- 12 TasNetworks LV AERIAL BUNDLED CABLE NTS
<|o 160A 3 X SINGLE PHASE FUSE / SWITCH DETAILS
o <Z( DRAWN (5 PRO-SOLUTIONS
w |3 DESIGNED BY | ELECTRO
= % CHECKED BY HWESTBURY AA
<< APPROVED BY A KETLEY D _ O H[ _ EOO2 _ S D _ OO/‘ REVISION
DATE APPROVED | 10/MAY/19 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-5



Overhead Distribution Construction Manual Section 5

5.2LVABC — Isolators / Fuses

1 \ 2 \ 3 L 5
FUSIBLE ELEMENT IN
A TINNED SOLID COPPER BLADE PORCELAIN ENCLOSER
BLADE
B
\RETA\N\NG TAG
C LINK NH2 SERIES FUSE NHZ2 SERIES
SCALE 1:2.5 SCALE 1:2.5
D
1] (I} LT
R e
(8]
] n
L FOR KRONE TYPE
©} (&) @ ® [ FUSE SWITCH YELLOW
{?} _@i—} {E} INDICATORS ARE VISIBLE
WHEN FUSES ARE NOT LOADED.
£ @ @ @’/‘_/FOR NGK TYPE YELLOW
INDICATORS ARE VISIBLE
Ll SO L \ - o WHEN FUSES ARE LOADED.
)
j [EEEDJ t
O il ES 4
[ N
NOTES:
TO INSTALL FUSE/LINK PUSH SPRING
IN DIRECTION OF ARROW WITH FRONT FUSE TRAY (EXTERNAL \/‘EW)
RETAINING TAG AND LOCATD READ SCALE 15
F RETAINING TAG IN OPPOSITE SLOT.
FUSE TRAY (INTERNAL VIEW)
SCALE 1.5
RATING TABLE
G FUSE TYPE CURRENT
BRAND REFER TO ITEM 64E (CONTINUOUS) RATED OPERATIONAL CONDUCTOR SIZES
D-OHC-E003-001 Sl. No. VOLTAGE
KRONE NH-2 23.63.26 400 AMP FUSE/BLADE 415 95mm?- 2 X95mm?
L NGK NH-2 23.63.26 400 AMP FUSE/BLADE 415 150mm?
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w trading as TasNetworks OR TRANSHITTED By ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y e SCALE
- |2 TasNetworks LV AERIAL BUNDLED CABLE NTS
<|2 400A 3 PHASE FUSE
x|z DRAWN (5 PRO-SOLUTIONS S\/\”T[H DETA‘LS
w g DESIGNED BY ELECTRO A A
=le CHECKED BY H.WESTBURY
< APPROVED BY | A KETLEY O O OO REVISION
DATE APPROVED | 10/MAY/19 D B O H [ - E 2 B S D B 2 A

Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-6



Overhead Distribution Construction Manual

Section 5

LVABC — Isolators / Fuses
-

1 [ 2 3 L 5
NOTE:
FUSE SWITCH TERMINALS ARE
A LABELLED "SUPPLY" AND "LOAD".
CONNECT LV TRANSFORMER LEADS
INSULATED LV TO "SUPPLY'" TERMINALS. AND
TRANSFORMER LEADS — LV ABC LEADS TO "LOAD"” TERMINALS.
T NEUTRAL CONDUCTOR
.
B
— —
p . o \ LV ABC
RUN INCOMING LV ABC
— CABLE HORIZONTALLY FOR 300mm
BEFORE MAKING 100mm MINIMUM MOUNTING BRACKET
RADIUS DRIP LOOP. TO ENSURE O
CLEARANCE WITH FUSE/LINK T
TRAY OPERATION.
3
[ e=lr
4
DRIP LOOP RADIUS
100mm MINIMUM
- O
TYPICAL FUSE SWITCH IN SERVICE
D SUPPLY SIDE LOAD SIDE
SCALE 140 O V— 6LE
i}
[ INSERT OPERATING STICK /( ﬁ]\
HOOK IN THIS HOUSING
TO REMOVE FUSE / LINK
TRAY FROM FUSE SWITCH UNIT
O SHROUDED CONTACTS
BARE
L CONTACTS
TINNED COPPER TERMINALS
O T FUSE / LINK
F RATCHET SOCKET WRENCH
(S.I. No. 14.56.42) LIFT TERMINAL COVER
TO EXPOSE TERMINALS S FUSE / LINK TRAY
[@XY
~
> \
<C| G N OPERATING HOOK STICK
> STRIP BACK INSULATION .
AN (KRONE TYPE ONLY) ¥ NOTE:
o 35mm ABC STRIPPING TOOL \ INSTALLATION AND REMOVAL OF
|| Eposto conpucTor. Appiy | FUSE / LINK TRAY SHOULD BE
CORROSION INHIBITING GREASE { UU PERFORMED WITH AN OPERATING STICK.
(S.I. No. 11.77.33) INSERT IN OO
CABLE ENTRY AND TIGHTEN
TERMINAL BOLTS. (TORQUE 18 Nm) ‘SOLAT‘NG / OPERAT‘NG
H CONDUCTOR CONNECTION SCALE 15
SCALE 15
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» frading as TasNetworks SR TRANSMTTED 87 ANY MEANS WITHOUT TeE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
=] TITLE SCALE
-1 TasNetworks LV AERIAL BUNDLED CABLE NTS
< |- 400A 3 PHASE FUSE - ARRANGEMENT
o Z DRAWN (5 PRO-SOLUTIONS
w |9 DESIGNED BY ELECTRO
e CHECKED BY | H.WESTBURY Al
: APPROVED BY | A KETLEY D _ O H[ _ EOO2 _ SD _ 003 REVISION
DATE APPROVED | 10/MAY/19 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-7



Overhead Distribution Construction Manual

Section 5

LVABC — Isolators / Fuses — Materials List

1 2 \ 3 L 5
A
B
Unit Assembly Store Type | Item Ref | Stock ltem |Stock Item Description Quantity
C F/LVABC/160_250 S 64D 236341 #N/A 1
29K 323401 |BRACKET,HOUSE SERVICE FUSE 32X8MM M-PH 1
81 37267 SET SCREW,HEXHEAD M12 X40MM 316S/S 1
85B 50250 COACH SCREW,HEXHEAD 12MM X 100MM GAL 1
84B 50226 COACH SCREW,HEXHEAD 10MM X 65MM GAL 1
F/LVABC/400 S 64E 236326 |SWITCHING GROUP,400A LV 3P POLE MOUNT 1
85B 50250 COACH SCREW,HEXHEAD 12MM X 100MM GAL 2
D
£
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
2 © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" = trading a5 TasNetworks STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
o g OR TRANSMITTED BY ANY MEANS WITHOUT THE
= E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y b |5 SCALE
215 ol § o TasNetworks TTLE
— |5 §§§:§ g LV AERIAL BUNDLED CABLE NTS
<|2|o [N FUSE / SWITCH
] DRAWN (5 PRO-SOLUTIONS
<=l w MATERIALS LIST
w = o xg ; DESIGNED BY ELECTRO AL,
e8| m Bzl.g CHECKED BY | HWESTBURY
- — e IEez
< a Z%(ﬁ APPROVED BY | A KETLEY _ _ _ _ REVISION
= Eaps DATE APPROVED | 10/MAY/19 D OHC E002 SD 004 B
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-8



Overhead Distribution Construction Manual

Section 5

5.2.1 LV Fuse Selection

1 \ 2 3 b 5
A
AVOID LONG LENGTHS OF LOW VOLTAGE CIRCUITS OTHERWISE LV FUSES MAY NOT OPERATE FOR LOW
VOLTAGE FAULTS. VOLTAGE DROP USUALLY DETERMINES THE MAXIMUM CABLE RUN.
FUSE LV FUSE RATING S1 No
B L .
TYPE & SIZE (AMPS)
NH-00 63 22.22.07
|| NH-00 80 22.22.08
NH-00 100 22.22.09
NH-00 125 22.22.10
C NH-00 160 22.22.11
NH-2 160 22.22.21
NH-2 250 22.22.22
NH-2 315 22.22.23
NH-2 400 22.22.24
D OTKF 250 22.26.89 0BSOLETE
OTKF 450 22.28.20 OBSOLETE
NOTES:
1. % USE OF OTKF FUSES OR EQUIVALENT WITH LV FUSE ISOLATOR S.. No. 23.62.40 OBSOLETE
2. NH TYPE SIZE 00 FUSES ARE REQUIRED FOR LV ABC FUSE SWITCHES S.. No. 23.62.41 ITEM 64D LVABC SINGLE PHASE
E 3. NH TYPE SIZE 2 FUSES ARE REQUIRED FOR LV ABC FUSE SWITCHES S.. No. 23.63.26 ITEM 64LE LVABC 3 PHASE
4. REFER SECTION 6.8 FOR MATCHING FUSE SIZE TO TRANSFORMER SIZE.
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tosmonian Networks PTY. LTD. STORED IN A RETRIEVAL SYSTEM N ANY FORI.
v trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°ls TasNetworks me SCALE
-2 LV FUSE SELECTION NTS
;( é DRAWN (5 PRO-SOLUTIONS
w |8 DESIGNED BY ELECTRO
Z % CHECKED BY HWESTBURY AL’
<t APPROVED BY A KETLEY _ _ _ _ REVISION
D - OHC - E003 - SO - 007 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-9



Overhead Distribution Construction Manual

Section 5

5.3 HV EDO Fuses

5.3.1 HV Crossarm Mounted — EDO Fuses

-

1 | 2 | 3 | 4 5
REFER SECTION 3 FOR
HV CONSTRUCTION DEATILS
A g| ﬁ T
| | SR N ™ E” S
[
g I
] 11
[
L] /
B 2 /
2
rﬁ B
I I ol STD EDO [S.l. No. 236323)
- j OR_ FOR FAULT TAMER
63U FUSES (5.l No. 236328)
88A ) |718 UP TO 2CA RATING
POWER FUSE (BORIC ACID)
(5. No. 236322)
C
| NB ON WOOD POLE ONLY
D
POSSUM GUARD
| TO BE FITTED.
PE CLAMPS S50-AL/AL
55E-AL/Cu
LL CLAMPS 55A OR 55B OR 55C
E
+— - —
F
4
r USE INSULATED CONDUCTOR
| OR FIT INSTALLED SLEEVING
ON DROPPERS
G
13| FUSE ELEMENT SIZE TO SUIT SITUATION
0R
118A)OR(1180) POWDER FILLED FUSE ELEMENT
EARTHING
STIRRUP
(.
H
APL Nos
ED0/X/1/PLM DIMENSIONS ARE IN MILLIMETRES
EDO/X/3/PLM UNLESS OTHERWISE STATED
@© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED RETRI SYSTI RM,
0 trading as TasNetworks QR TRANSHITIED BY ANY MEANS WITHOUT THE
= |w ABM- 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
] SCALE
o TasNetworks TMLE
- @ EDO FUSES CROSSARM MOUNTED 175
< |2 1MkV OR 22kV
x|= DRAWN (5 PRO-SOLUTIONS
w |G DESIGNED BY | ELECTRO
-2 L Ad
o CHECKED BY | H.WESTBURY
< APPROVED BY | A KETLEY REVISION
DATE APPROVED N/MAY/19 D - OH1 - EOOL - SD - OOT A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-10



Overhead Distribution Construction Manual

Section 5

HV - Crossarm Mounted EDO Fuses — Materials List

1 \ 2 \ 3 \ L 5
A
OHCM - Section 5 Swifches Fuses
Unit Assembly Store Type | Item Ref | Stock Item [Stock Item Description Quantity
EDO/X/1/PLM S 1D 323304 |CROSSARM,STEEL 75 X75 X2210MM MK4 GAL 1
B 1 phase 2B 323317 |BRACE,CROSSARM40 X5 X500MM FLAT GAL 1
includes EDO crossarm 63M 236323 |[FUSE,CUTOUT 100A/25KV 1P PRIMARY EXPULSN 2
excludes Top HV construction, 75N 32288 BOLT,HEXHEAD M16 X350MM GAL. C/W NUT 2
leads and connectors 752 32261 [BOLTHEXHEAD M16 X45MM GAL. C/W NUT 2
85B 50250 COACH SCREW,HEXHEAD 12MM X 100MM GAL 1
86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 2
88B 66413 |WASHER,FLAT ROUND M16 X 30 X5MM GAL 2
C 2A 323314 |BRACE,CROSSARM40 X700 X5MM THICK GAL 2
EDO/X/3/PLM S 1D 323304 |CROSSARM,STEEL 75 X75 X2210MM MK4 GAL 1
3 phase 2B 323317 |BRACE,CROSSARM40 X5 X500MM FLAT GAL 1
includes EDO crossarm 63M 236323 |FUSE,CUTOUT 100A/25KV 1P PRIMARY EXPULSN 3
excludes Top HV construction, 75N 32288 BOLT,HEXHEAD M16 X350MM GAL. C/W NUT 2
leads and connectors 752 32261 BOLT,HEXHEAD M16 X45MM GAL. C/W NUT 3
85B 50250 COACH SCREW,HEXHEAD 12MM X 100MM GAL 1
86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 2
D 88B 66413 |WASHER,FLAT ROUND M16 X 30 X5MM GAL 3
2A 323314 |BRACE,CROSSARM40 X700 X5MM THICK GAL 2
£
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
213 TasNetworks T SCALE
-2 EDO FUSES NTS
<|z CROSS ARM MOUNTED
DRAWN (5 PRO-SOLUTIONS
= MATERIALS LIST
s = DESIGNED BY ELECTRO A A
= e CHECKED BY | HWESTBURY
4
< APPROVED BY | A KETLEY _ _ _ _ REVISION
D - OHC - E004 - 5D - 002 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-11



Overhead Distribution Construction Manual

Section 5

5.3.2 HV EDO Fuses with Strain Construction

—

1 | 2 [ 3 5
T\
2 N 7Y
U I+ hY \_P ]
A
5
A S
B /
£ STD EDO (S.1. No. 236323)
2|E3 FOR ‘FAULT TAMER' FUSES
a2y (S No. 236328) UP TO 204 RATING
N ; POWER FUSE (BORIC ACID)
= (S.1. No. 236322)
1
WHERE CONOUCTOR LACKS
C STIFFNESS AND COULD CONTACT 4+— - —»
POLE, INSTALL INSULATOR
ON POLE BRACKET
59A, 60E, 6A, TSN, 8B, 824, St i o
REFER EDO TEE-OFF DRAWING L 75z] (888
. Cer(em (e
HELICAL TERMINATION TO SUIT
CONDUCTOR SIZE/TYPE
D
888
| FIT INSULATED
SLEEVING ON DROPPERS
E
FUSE ELEMENT SIZE
TO SUIT SITUATION
- NB CENTRE DISC INSULATORS
OMITTED FOR CLARITY
EARTHING STIRRUP
-
F
-
B2
L el - — -
|
G
IE:
] g2
TION
APL Nos:
H FDO/11/1
FOO/1/3
FDO/22/1 DIMENSIONS ARE IN MILLIMETRES
FDO./22/3 UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED RETR SYSTI RM,
" trading as TasNetworks 3R TRANSHITTED BY ANY MEAKS WITHOUT THE
= |w ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
=2 SCALE
o TasNetworks TME
c 8 EXPULSION DROPOUT FUSE 130
< &‘ DRAWN (5 PRO-SOLUTIONS 11KV OR zzkv
x|=Z & WITH STRAIN CONSTRUCTION
w|o DESIGHED BY | ELECTRO A4
[l
o CHECKED BY | H.WESTBURY
< APPROVEDBY |4 KETLEY REVISION
DATE APPROVED 10/HAY /19 D - OHC - EOOS - SD - 001 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-12



Overhead Distribution Construction Manual

Section 5

HV EDO Fuses with Strain Construction — Materials List

1 2 \ 3 \ L 5
A
B - — -
Unit Assembly Store Type | ltem Ref | Stock ltem |Stock ltem Description Quantity
FDO/M11/1/PLM S 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
FDO/22/1/PLM 1D 323304 |CROSSARM,STEEL 75 X75 X2210MM MK4 GAL 1
1 |1phase 1E 323305 |CROSSARM,STEEL 100 X 100 X2210MM GAL 2
includes EDO crossarmand 2B 323317 |BRACE,CROSSARM40 X5 X500MM FLAT GAL 1
strain construction 60G 321260 |[INSULATOR,SUSPENSION 146MM DISC D70S 4
61A 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 4
( 61B 322386 |CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 4
61D 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 4
63M 236323 |FUSE,CUTOUT 100A/25KV 1P PRIMARY EXPULSN 2
75N 32288 BOLT,HEXHEAD M16 X350MM GAL. C/W NUT 3
[ 75Z 32261 BOLT,HEXHEAD M16 X45MM GAL. C/W NUT 8
77B 33771 BOLT,HEXHEAD M12 X35MM GAL. C/W NUT 4
82A 40441 NUT,HEXM16 THREAD GALANISED STEEL 4
D 85A 50248 COACH SCREW,HEXHEAD 12MM X 75MM GAL 1
86B 65158 |WASHER,FLAT ROUND M16 X50MM GAL 3
88A 66412 | WASHER,FLAT ROUND M12 X 24MM GAL 4
88B 66413 |WASHER,FLAT ROUND M16 X 30 X5MM GAL 10
. 2A 323314 |BRACE,CROSSARM40 X700 X5MM THICK GAL 6
41B 157877 |SLEEVING,ELECT INSUL POLY 6MM X 30M BLK 4
FDO/11/3/PLM S 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
FDO/22/3/PLM 1D 323304 |CROSSARM,STEEL 75 X75 X2210MM MK4 GAL 1
E 3 phase 1E 323305 |CROSSARM,STEEL 100 X 100 X2210MM GAL 2
includes EDO crossarm and 2B 323317 |BRACE,CROSSARM40 X5 X500MM FLAT GAL 1
strain construction 60G 321260 |INSULATOR,SUSPENSION 146MM DISC D70S 6
1 61A 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 6
61B 322386 |CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 6
61D 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 6
63M 236323 |FUSE,CUTOUT 100A/25KV 1P PRIMARY EXPULSN 3
F 75N 32288 BOLT,HEXHEAD M16 X350MM GAL. C/W NUT 3
752 32261 BOLT,HEXHEAD M16 X45MM GAL. C/W NUT 9
77B 33771 BOLT,HEXHEAD M12 X35MM GAL. C/W NUT 4
L 82A 40441 NUT,HEXM16 THREAD GALANISED STEEL 4
85A 50248 COACH SCREW,HEXHEAD 12MM X 75MM GAL 1
86B 65158 |WASHER,FLAT ROUND M16 X50MM GAL 3
88A 66412 |[WASHER,FLAT ROUND M12 X24MM GAL 4
G 88B 66413 WASHER,FLAT ROUND M16 X 30 X 5MM GAL 11
2A 323314 |BRACE,CROSSARM40 X700 X5MM THICK GAL
41B 157877 |SLEEVING,ELECT INSUL POLY 6MM X 30M BLK
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
) © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
% 5 trading as TasNetworks SR TRRNSHITTED 85 A MEANS WITHOUT THE
i - %) _ T”LEABN 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS .
- |2 HEE TasNetworks EXPULSION DROPOUT FUSE NTS
M EE Epass DRAWN (5 PRO-SOLUTIONS lkV OR 22kV
o g 5 g P WITH STRAIN CONSTRUCTION
|3 g ma) ;Eé%).é CHECKED BY | HWESTBURY MATERIALS LIST Al
& BElzzEy APPROVED BY | A KETLEY REVISION
- - ;ﬁés% DATE APPROVED | 13/MAY/19 D—- OHC - E005 - SD - 002 B
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-13



Overhead Distribution Construction Manual

Section 5

5.3.3 HV EDO Fuses with Tee-Off Construction

—

1 | 2 [ 3 | 4 5
REFER SECTION 3 FOR DETAILS
OF TOP HV CONSTRUCTION
A
GL
2
T [ . ° o |
o
B g
HELICAL TERMINATION TO SUIT
CONDUCTOR SIZE/TYPE
I FUSE ELEMENT SIZE TO NB CENTRE DISC INSULATORS
SUIT SITUATION T AND DROP OUT FUSES
OMITTED FOR CLARITY
S
c =l2> GG GD
~| =%
E o
s
T
— '
.
D =
AL/AL OR (BSE)AL/Cu
[~ —
| —|—2 LEAD TO BE EQUIVALENT
TO MAIN CONDUCTOR SIZE
4 — INSULATED CONDUCTOR OR
FIT INSULATED SLEEVING
E —
4
POWER FUSE (BORIC ACID)
[S.). No. 236322)
OR
N ¢ 0 Y STD EDO (S.). No. 236323)
F OR_FOR FAULT TAMER FUSES
(5.1 No. 236328) UP TO 20A
RATING |
EARTHING
2 STIRRUP
-
u : =
59A 60E
1
G & \
.
—
APL Nos:
H TFO0/11/1
TFDO/11/3
TFOO/22/1 DIMENSIONS ARE IN MILLIMETRES
TF00/22/3 UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED RETR SYSTI RM,
" trading as TasNetworks 3R TRANSHITTED BY ANY MEAKS WITHOUT THE
= |w ABMN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
=2 SCALE
] TasNetworks TME
c A EXPULSION DROPOUT FUSE TEE OFF 130
< |Z 1kV OR 22kV
X |=Z DRAWN (5 PRO-SOLUTIONS
w D DESIGMED BY | ELECTRO
- |2 Ad
o CHECKED BY | H.WESTBURY
< APPROVED BY | A KETLEY REMISION
DATE APPROVED 3/HAY /19 D - OHC - E006 - SD - 001 A

Rev. 2.1

Switches, Fuses, Reclosers and Sectionalisers

Page 5-14



Overhead Distribution Construction Manual

Section 5

HV EDO Fuses with Tee-Off Construction — Materials List

1 2 \ 3 \ L 5
A Unit Assembly Store Type | Item Ref | Stock Item |Stock ltem Description Quantity
FDO/M11/1/PLM S 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
FDO/22/1/PLM 1D 323304 |CROSSARM,STEEL 75 X75 X2210MM MK4 GAL 1
[ 1 phase 1E 323305 |CROSSARM,STEEL 100 X100 X2210MM GAL 2
includes EDO crossarm and 2B 323317 |BRACE,CROSSARM40 X5 X500MM FLAT GAL 1
strain construction 60G 321260 |INSULATOR,SUSPENSION 146MMDISC D70S 4
61A 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 4
B 61B 322386 |CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 4
61D 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 4
63M 236323 |FUSE,CUTOUT 100A/25KV 1P PRIMARY EXPULSN 2
75N 32288 BOLT,HEXHEAD M16 X350MM GAL. C/W NUT 3
— 752 32261 BOLT,HEXHEAD M16 X45MM GAL. C/W NUT 8
77B 33771 BOLT,HEXHEAD M12 X 35MM GAL. C/W NUT 4
82A 40441 NUT,HEXM16 THREAD GALANISED STEEL 4
85A 50248 COACH SCREW,HEXHEAD 12MM X 75MM GAL 1
C 86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 3
88A 66412 | WASHER,FLAT ROUND M12 X 24MM GAL 4
88B 66413 |WASHER,FLAT ROUND M16 X30 X 5MM GAL 10
2A 323314 |BRACE,CROSSARM40 X700 X 5MM THICK GAL 6
[ 41B 157877 |SLEEVING,ELECT INSUL POLY 6MM X 30M BLK 4
FDO/11/3/PLM S 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
FDO/22/3/PLM 1D 323304 |CROSSARM,STEEL 75 X75 X2210MM MK4 GAL 1
D 3 phase 1E 323305 |CROSSARM,STEEL 100 X100 X2210MM GAL 2
includes EDO crossarmand 2B 323317 |BRACE,CROSSARM40 X5 X500MM FLAT GAL 1
strain construction 60G 321260 |INSULATOR,SUSPENSION 146MMDISC D70S 6
61A 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 6
— 61B 322386 |CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 6
61D 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 6
63M 236323 |FUSE,CUTOUT 100A/25KV 1P PRIMARY EXPULSN 3
75N 32288 BOLT,HEXHEAD M16 X350MM GAL. C/W NUT 3
£ 752 32261 BOLT,HEXHEAD M16 X45MM GAL. C/W NUT 9
77B 33771 BOLT,HEXHEAD M12 X 35MM GAL. C/W NUT 4
82A 40441 NUT,HEXM16 THREAD GALANISED STEEL 4
85A 50248 COACH SCREW,HEXHEAD 12MM X 75MM GAL 1
[ 86B 65158 WASHER,FLAT ROUND M16 X 50MM GAL 3
88A 66412 WASHER,FLAT ROUND M12 X 24MM GAL 4
88B 66413 |WASHER,FLAT ROUND M16 X30 X 5MM GAL 1
F 2A 323314 |BRACE,CROSSARM40 X700 X 5MM THICK GAL 6
41B 157877 |SLEEVING,ELECT INSUL POLY 6MM X 30M BLK 6
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w trading as TasNetworks SR TRANSHITIED BY'ANY NEARG WITHDUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o lw
- |3 TasNetworks | ™y o)) 510N DROPQUT FUSE TEE OFF NTS
< j( DRAWN (5 PRO-SOLUTIONS M kv O R 22 k v
E MATERIALS LIST
w = DESIGNED BY ELECTRO A A
; = CHECKED BY HWESTBURY
APPROVED BY | A KETLEY REVISION
= DATE APPROVED | 24/MAY/19 D B O H [ - E O O 6 - S D - OO 2 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-15



Overhead Distribution Construction Manual

Section 5

5.3.4 Powder Filled Fuses — Double Crossarm Mounting

—

2 l 3 l L 5
REFER SECTION 3 FOR DETAILS
OF HV CONSTRUCTION
’ s
E 777777777 L e —
| S : S N | A+ 8
I
— I
3 I
I
f\ [
e ol [ g ]
B
o
3
— " n [—/———" ]
+ +
Ty
C &>~ K ]
D
L — PE CLAMPS 55D-AL/AL
55E-AL/Cu
LL CLAMPS 55A &
55B OR 55C
55
£ €D
USE ISOLATED CONDUCTOR
OR FIT INSULATION SLEEVING
418 ON DROPPERS.
F
LONG FUSE ELEMENT TO BE
SIZED TO SUIT SITUATION
G 82A
S.l. No. 22.10.72
(RN
H
DIMENSIONS ARE IN MILLIMETRES |2
UNLESS OTHERWISE STATED =<
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED. |
" trading as TasNetworks STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading OR TRANSMITTED BY ANY MEANS WITHOUT THE |l T1
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS <
o |w
213 TasNetworks TILE SCALE
— 4 POWDER FILLED FUSES - DOUBLE CROSSARM 1.25
< |z MOUNTING
DRAWN (5 PRO-SOLUTIONS
x |2 22kV ONLY
[P = DESIGNED BY ELECTRO AQ
[a4
=l CHECKED BY HWESTBURY
2 APPROVED BY A KETLEY REVISION
< _ _ _ _
DATE APPROVED | 13/MAY/19 D O H [ EO 07 S D O O/‘ A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-16



Overhead Distribution Construction Manual

Section 5

5.3.5 EDO Fuse Elements

\ 2 3 4
OHCM - SECTION 5 SWITCHES FUSES
A
[— Type Rating Item No. | Stock ltem Description Quantity
STD EDO Fuse Element AK1 1A 113A 225441  |[FUSE LINK,EXPULSION 1A X 24KV TYPE-K
Use with base 5A 113D 225444 #N/A
63M#236323 16A 113G 225447 |FUSE LINK,EXPULSION 16A X 24KV TYPE-K
B 20A 113H 225449 #N/A
25A 113J 225430  |FUSE LINK,EXPULSION 25A X 24KV TYPE-K
31.5A 113K 225431 |FUSE LINK,EXPULSION 31.5A X 24KV TYPE-K
|| 40A 113L 225432  |FUSE LINK,EXPULSION 40A X 24KV TYPE-K
50A 113M 225433  |FUSE LINK,EXPULSION 50A X 24KV TYPE-K
63A 113N 225434 #N/A
80A 113P 225435 [FUSE LINK,EXPULSION 80A X 24KV TYPE-K
( 100A 113Q 225436 |FUSE LINK,EXPULSION 100A X 24KV TYPE-K
6/20A 113R
Surgeproof 225448  [FUSE LINK,EXPULSION 6/20A X 24KV TYPE-K
SOLID LINK 1135
L 200A 236370  |LINK,SOLID 100A RATING CONT. 2.0KA/1SEC
SMU Fuse Element 6A 1137 236391 |FUSE,POWER 6A X 22KV K-SPEED SMU-20
Use with base 15A 113U 236392 [FUSE,POWER 15A X 22KV K-SPEED SMU-20
63M#236323 25A 113V 236393 |FUSE,POWER 25A X 22KV K-SPEED SMU-20
0 Powder Fuse (Boric Acid) 30A 113W 236394 |FUSE,POWER 30A X 22KV K-SPEED SMU-20
50A 113X 236397 #N/A
S&C EDO Fuse Element 5A 113Y 236336 |FUSE LINK,CUTOUT 5A FAULT TAMER FUSE
|| Use with base 10A 113z 236329 |FUSE LINK,CUTOUT 10A FAULT TAMER FUSE
63M#236323 15A 113AA 236331 |FUSE LINK,CUTOUT 15A FAULT TAMER FUSE
20A 113AB 236332 |FUSE LINK,CUTOUT 20A FAULT TAMER FUSE
Powder filled fuse 12kV 118A
F 360mm long 10A 225111 [FUSE LINK,BS AIR 10A X 12KV 12BDGHA
Use with base 31.5A 118D 225121  |FUSE LINK,BS AIR 31.5A X 12KV 12BDGHA
63M#221070 40A 118E 225122 #N/A
Powder filled fuse 24kV 118H
L 595mm long 10A 225196 |FUSE LINK,CRTRDGE 10A X 24KV 50X565MM
Use with base 16A 118J 225197  |FUSE LINK,CRTRDGE 16A X 24KV 50X565MM
63M#221072 20A 118K 225198  |FUSE LINK,CRTRDGE 20A X 24KV 50X565MM
25A 118L 225199 #N/A
F 31.5A 118M 225201  [FUSE LINK,CRTRDGE 31.5A X 24KV 50X565MM
G
H
DIMENSIONS ARE IN MILLIMETRES |
UNLESS OTHERWISE STATED =<
F THIS DRAWING MAY BE REPRODUCED.
: R i T
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS <
o |w
- |3 TasNetworks | ™o\ |TCHES AND FUSES NTS
Z g DRAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY ELECTRO
= % CHECKED BY HWESTBURY A Z*'
:( APPROVED BY A KETLEY REVISION
DATE APPROVED | 13/MAY/19 D - O H [ - E O O 8 - S D - OO /‘ A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-17



Overhead Distribution Construction Manual

Section 5

5.3.6 NEK Stranger (A B Chance) EDOs

1 \ 2 \ 3 L 5
A - 500 —+ -
Jad -
| S S :4] HOOD
REFLECTIVE
WHITE TAPE
B
T 1
| . -
M10 x 100 EARTH ‘ 355 |
BOLT ASSEMBLY
!- Cap Remaved. 1
] 570 -
REFLECTIVE
CABLE CLAMP | RED TAPE
0 ~ = @]Option
100 ' Fuse Holder
ovy With
(. Lood Break Lever,
- &/
1 e— N .
E
DROPOUT EXPULSION FUSE
24kV 100 AMP
f S.I. No. COMPLETE FUSE (63m) 23.63.23
S.I. No. FUSE TUBE (30c) 23.55.01
RATED VOLTAGE 24kV
1 RATED CURRENT 100 AMP
RATED BREAKING CAPACITY (SYM) 8KA
BASIC INSULATION LEVEL 150kV
G CREEPAGE TO EARTH 450mm
TYPE C
FUSE DETAILS
COMPLETE FUSE ASSEMBLY S.I. No. 23.63.23
H FUSE TUBE S.I. No. 23.55.01
DIMENSIONS ARE IN MILLIMETRES o
UNLESS OTHERWISE STATED <
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED, |
m trading as TasNetworks OR TRANSHITIED DY ARY MEANS WiTkouT THE | 71
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS <
= TILE SCALE
- |3 TasNetworks HIGH VOLTAGE DROP-OUT FUSE NTS
<|= NGK STANGER (AB CHANCE)
o <Z( DRAWN (5PROSOLUTIONS
w |3 DESIGNED BY | ELECTRO
= % CHECKED BY HWESTBURY AA
<C APPROVED BY A KETLEY _ _ _ _ REVISION
D - OHC - E009 SD - 001 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-18



Overhead Distribution Construction Manual Section 5

Morlynn EDOs — Notes

1 | 2 3 L 5
A DROPOUT EXPULSION FUSE
24kV-100AMP
GENERAL
THE OLD DESIGN OF DROPOUT EXPULSION FUSE, SERIES RE MANUFACTURED BY MORLYNN POWER HAS BEEN REPLACED BY THE
AB CHANCE (NGK STANGER) TYPE.
B THE RE TYPE DROPOUT EXPULSION FUSE IS A DELAYED DUAL VENTING TYPE, SINGLE PHASE, SINGLE INSULATOR, CROSSARM
MOUNTING, HOOK STICK OPERATED SUITABLE FOR BOTH 12kV AND 24kV APPLICATIONS.
THE SPARKLESS FUSES AND CONVENTIONAL ‘K" OR ‘T* TYPE FUSE LINKS ARE AVAILABLE FOR USE IN THE FUSE CARRIER
WHICH INTERRUPT AND DROPS OPEN WHEN THE FUSIBLE ELEMENT OF THE FUSE LINK RUPTURES ON EXCESS CURRENTS. “SPARKLESS”
FUSE ELEMENTS ARE NOT SPARK-FREE, BUT PRODUCES FEWER SPARKS THAN THE OLDER ELEMENTS.
C APPLICATION
THEIR APPLICATION IS FOR THE PROTECTION OF DISTRIBUTION TRANSFORMERS AND SPUR LINES THE FUSE SWITCH DROPPING OPEN
T0 ISOLATE THE FAULTY UNIT OR SYSTEM SECTION UNDER FAULT CONDITIONS, AT THE SAME TIME PROVIDING A CLEAR INDICATION
OF THE FUSE OPERATION, THE DUTY OF THE FUSE FITTING SHOULD BE SELECTED SO THAT ITS FAULT RATING IS NOT EXCEEDED BY
THE LOCAL HV FAULT LEVEL. THE REMOVABLE CAP SCREWED TO THE TOP OF THE FUSE CARRIER IS FITTED WITH A 65mm LONG
— STAINLESS STEEL TUBE TO INCREASE THE FAULT RATING OF THE FUSE FROM THE STANDARD 6kA TO 8kA RATING WHICH RELATES
TO 300MVA AT 22kV AND 150MVA AT 11kV THE FAULT RATING OF THE FUSE IS RESTRICTED TO 2kA, WHICH RELATES TO 75MVA
AT 22kV AND 37.5MVA AT 11kV, WHEN THE DROPOUT FUSE FITTING IS FITTED WITH A SPARK CATCHER, AS THIS IS THE
MAXIMUM FAULT RATING OF THE SPARK CATCHER. (OLD INSTALLATIONS ONLY)
D
FUSE CARRIERS
THE FUSE CARRIER GREY IN COLOUR CONSISTS OF A FIBREGLASS RE-INFORCED TUBE WITH A VULCANISED FIBRE LINING, WITH
CONTACTS AT EACH END. THE TOP CONTACT CONSIST OF AN ELECTRO-TINNED BRASS CASTING PRESSED ON TO THE TUBE. THIS
CASTING 1s PROVIDED WITH CONTACT EXTENSIONS TO ENGAGE THE CONTACT HORNS, A HOOK STICK PULLING EYE AND SCREWED
CAP, FITTED WITH A STAINLESS STEEL TUBE, FOR CLAMPING THE TERMINAL OF THE FUSE LINK. THE TOP END OF THE CASTING IS
HOLLOW TO ALLOW THE FUSE LINK TQ PASS THROUGH THE ASSEMBLY AND IS THREADED AT THE TOP EXTERNALLY TO ALLOW
THE TOP CAP TO BE SCREWED ON.
E THE SCREWED TOP CAP HAS A SAFETY DISC TO ALLOW THE TUBE TO DOUBLE VENT AT HIGH FAULT LEVELS. WHEN THIS HAPPENS
THE DISC MUST BE REPLACED. WASHERS MUST NEVER BE SUBSTITUTED FOR THE STANDARD DISC.
THE FUSE CARRIER WILL FIT THE STANDARD AND HEAVY DUTY FUSE FITTINGS AND REPLACES BOTH THE STANDARD DUTY FUSE
CARRIER (S.I. No 23.63.75) AND THE HEAVY DUTY FUSE CARRIER (S... No 23.63.77)
THE EXISTING EXTRA HEAVY DUTY FUSE CARRIER (S.. No 23.63.79) WILL BE HELD ON STOCK FOR USE IN EXISTING EXTRA
HEAVY DUTY FUSE FITTINGS.
THE OLD FUSE CARRIERS WITH PVC OUTER SHEATH ARE SUBSTANDARD COMPONENTS AND MUST BE REPLACED.
F
FUSE LINKS
1 THE CURRENT RATING OF FUSE LINKS APPLICABLE TO 22kV AND 11kV DISTRIBUTION TRANSFORMERS IS TABULATED IN THE
APPROPRIATE OPERATING MANUAL AND THE OPERATIONAL MANUAL. THE FUSE LINK HAS THE CURRENT RATING AND TYPE STAMPED
ON THE END TERMINAL.
SPARKLESS FUSES HAVING CLASS 'K’ CHARACTERISTICS ARE AVAILABLE IN SIZES UP TO 16 AMP AND ARE NORMALLY USED FOR
G PROTECTION OF DISTRIBUTION TRANSFORMERS AND THE SMALLER SPUR LINES.
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETREEVAL SYSTEM IN ANY FORM,
w trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 R OF TASNETWORKS
o |y SCALE
213 TasNetworks TTE
Z 14 HIGH VOLTAGE DROP-0UT FUSE NTS
<|zZ — MORLYN NOTES
ORAWN (5 PRO-SOLUTION!
x|z OBSOLETE
w = DESIGNED BY ELECTRO AL
: o CHECKED BY H.WESTBURY
< — D- OHC - E010 - SD - 002 | A
DATE APPROVED | 3/MAY/19 A

Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-19



Overhead Distribution Construction Manual

Section 5

5.3.7 Power Fuse (Boric Acid)
=

1 | 2 [ 3 b 5
EXTERNAL/INTERNAL
A LOCK WASHER
LOCKWASHER
NUT
MOUNTING BRACKET
B MOUNTING BRACKET
SUPPORT PIN
( MOUNTING BRACKET DETAIL
MOUNTING DETAILS
A. RUGGED MOUNTING BRACKET
B. PORCELAIN
C. LATCH-AND-UPPER-CONTACT ASSEMBLY WITH COMPRESSION-LOADED
D SILVER CLAD CONTACTS
0. FUSE UNIT
E. REUSABLE UPPER AND LOWER END FITTINGS
F. HINGE-AND-LOWER-CONTACT ASSEMBLY WITH COMPRESSION-LOADED
SILVER CLAD CONTALTS
E
FUSE CARRIER SPECIFICATIONS
S.I. No. COMPLETE FUSE 236322
— RATED VOLTAGE 25KV
RATED CURRENT 200 AMP
RATED BREAKING CAPACITY (SYM) 10kA
BASIC INSULATION LEVEL 150KV
F CREEPAGE TO EARTH 660mm
CATALOGUE No. 72298/15A
S.I. No. Z-MOUNTING BRACKET 323368
SMU FUSE UNIT DETAILS
A, UPPER SEAL
B. LATCH-ACTUATING PIN
G C. STAINLESS-STEEL DRIVE SPRING PROVIDES
STORED ENERGY TO DRIVE ARCING ROD UPWARD
THROUGH ARC-EXTINGUISHING MEDIUM DURING FUSE OPERATION
D. SOLID MATERIAL ARC-EXTINGUISHING MEDIUM
E. SILVER-CLAD COPPER ARCING ROD
F. FILAMENT-WOUND GLASS-EPOXY TUBE
- G. FUSIBLE ELEMENT - HELICALLY-COILED
SILVER OR PRETENSIONED NICKEL-CHROME PROVIDE
PRECISE MELTING CHARACTERISTICS AND NONDAMAGEABLE PERFORMANCE
NOTE: 25kV RATED FUSE CARRIER AND FUSE ELEMENTS TO BE USED ON BOTH
THE 11kV AND 22k¥ OVERHEAD SYSTEM
H
DIMENSIONS ARE IN MILLIMETRES |2
UNLESS OTHERWISE STATED =<
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED, el
w trading as TasMetworks 3;0%&&N‘gH?TTREEI;mIE’v:ILlYSﬁLE:; ‘E..T‘.?JUPFH”E' m
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS <
2= TasNetworks TILE SULE
] POWER FUSE (BORIC ACID) NTS
< |z FUSE CARRIER SPECIFICATIONS
- ‘Zf DRAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY ELECTRO
o
: =) CHECKED BY | H.WESTBURY AL
=« APPROVED BY | A KETLEY _ _ _ _ REVISION
mems pon D - OHC - E012 - SD - 001 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-20



Overhead Distribution Construction Manual

Section 5

Power Fuse (Boric Acid)

1 \ 2 3 b 5
A Clamp screw Current-carrying
Upper surface
end —_
fitting Locating pin
— (inside bore)
Locknut
B Lower clamp —— Clamp screw
end —
fitting Locating slot —
Current-carrying
surface
Actuating pin— ™~ Upper seal
extends through
upper seal when
C fuse unit is blown
and releases the I®
latch (not shown)
Locating slot
SMU-20
Fuse —
D Unit
Locating pin
| Red cap
must not be
disturbed when
SMU-20 Fuse
[ Unit is used [~ Lower ferrule
in SMD-20
Mounting
[ Fuse unit with end
fittings attached
F
FUSE ELEMENT SPECIFICATIONS (25kV RATED)
SMU20 FUSE ELEMENT TYPE | AMP RATING S.I. No. ITEMNo.
'K' PART No 703006 6A 23.63.91 113T
'K' PART No 703015 15A 23.63.92 113U
'K' PART No 703025 25A 23.63.93 113V
G 'K' PART No 703030 30A 23.63.94 113W
'K' PART No 703030 50A 23.63.97 113X
L NOTE: 25kV RATED FUSE CARRIER AND FUSE ELEMENTS TO BE USED ON BOTH THE 11kV AND 22kV OVERHEAD SYSTEM.
H
REFERENCE DRAWINGS DIMENSIONS ARE IN MILLIMETRES |
D-0HC-E012-5D-001 UNLESS OTHERWISE STATED =<
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED, | )
o fradng as TosNetorks SIEL A R STET A rom | 20
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS <
oY TLE SCALE
- |2 TasNetworks POWER FUSE (BORIC ACID) NTS
< | FUSE ELEMENT SPECIFICATIONS
o <Z( DRAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY ELECTRO
= % CHECKED BY HWESTBURY A A
:( APPROVED BY A KETLEY REVISION
DATE APPROVED | 23/APR/19 D - O H[ - E O /‘ 2 B S D B O 02 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-21



Overhead Distribution Construction Manual

Section 5

5.4 HV Links

5.4.1 HV Links in Strain Construction

-

[ [ 3 L 5
A
718
°
o @
&
KHD-
B F=¥ J + + 1y + \
nag
o%® 2
SvUe
w3l e
| Goz|co
S| Lo
el e
o
252 ®
Zos
C EQE
S3s
Efigal
— =
HORIZONTAL SWITCH LINKS
. S.l. No. 23.60.98
D
HELICAL TERMINATION ((53)
T0 SUIT CONDUCTOR
SIZE/TYPE
£
" 7
_ v & __r o+
I R
G
H
APL Nos
L/11/3 DIMENSIONS ARE IN MILLIMETRES
L/22/3 UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
wn trad T Net Kk STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as fasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°l5 TasNetworks e SCALE
—|a HORIZONTAL LINK STRAIN 1kV OR 22kV NTS
<|o MK5 CROSSARM
o ; DRAWN (5 PRO-SOLUTIONS
w @ DESIGNED BY ELECTRO A Z*'
(a4
L CHECKED BY H.WESTBURY
=
<< APPROVED BY A KETLEY D O H [ EO /‘ 3 S D O O /‘ REVISION
DATE APPROVED | 13/MAY/19 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-22



Overhead Distribution Construction Manual

Section 5

HV Links in Strain Construction — Materials List

1 2 \ 3 \ L
A
Unit Assembly Store Type | Item Ref | Stock ltem |Stock Item Description Quantity
L/11/3/PLM S 4 323311 |BRACKET,RIGHT ANGLE 75 X 12MM GAL 2
L/22/3/PLM 7 323318 |PLATE,MOUNTING 110 X 10MMHORIZONTAL LNK 3
1E 323305 |CROSSARM,STEEL 100 X100 X2210MM GAL 2
60G 321260 [INSULATOR,SUSPENSION 146MMDISC D70S 6
B 61A 322056 [CLEVIS,ROD-END BALL 16MM70KN MIN-FAIL 6
61B 322386 [CONNECTOR,ROD-END 16MM80KN MIN-FAIL MCI 6
61D 322090 [CLIP,SECURITY7.9MM S/STEEL 16B-WCLIP 6
75N 32288 BOLT,HEXHEAD M16 X 350MM GAL. C/W NUT 2
— 752 32261 BOLT,HEXHEAD M16 X45MM GAL. C/W NUT 4
778 33771 BOLT,HEXHEAD M12 X35MM GAL. C/W NUT 6
82A 40441 NUT,HEXM16 THREAD GALANISED STEEL 4
86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 2
C 87C 65615 |WASHER,FLAT ROUND M12 X28MM GAL 8
88B 66413 |WASHER,FLAT ROUND M16 X 30 X5MM GAL 4
#N/A 236098 |[SWITCHING GROUP,24KV X 1P O/SLUNG NO-AD 3
74K 32212 BOLT,HEXHEAD M12 X50MM GAL. C/W NUT 2
2A 323314 [BRACE,CROSSARM40 X700 X5MM THICK GAL 4
D
£
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
2z TasNetworks TmE SCALE
5 HORIZONTAL LINK STRAIN 11kV OR 22kV NTS
<|z MKS5 CROSSARM
DRAWN €5 PRO-SOLUTIONS
x|z MATERIALS LIST
w = DESIGNED BY ELECTRO A A
= e CHECKED BY | HWESTBURY
=
< APPROVED BY | A KETLEY D O H[ EO /B S D OOZ REVISION
DATE APPROVED | 13/MAY/19 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-23



Overhead Distribution Construction Manual

Section 5

5.4.2 Vertical Links in HV Strain Pole

-

[ [ L 5
A
2
=
L 3
~
B ]
~
¢ (53 )HELICAL TERMINATION
TO SUIT CONDUCTOR
= SIZE/TYPE
5
u g aia's
R|zs NB OUTER LINKS
© REMOVED FOR
e CLARITY
FIT INSULATION SLEEVING
82A
D 5N X _868 — TO ALL DROPPERS
)
((59A X(60E )
\\/ERT\[AL SWITCH LINKS
S.I. No. 23.60.89
- CoNDUCTOR TIEC 54 )
TO SUIT
£
F
G
H
APL Nos
VL/11/3 DIMENSIONS ARE IN MILLIMETRES
VL/22/3 UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
v frading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
213 TasNetworks TImLE SCALE
A VERTICAL (307) LINKS STRAIN 1.30
< |z 11kV OR 22kV MK5 CROSSARM
o <Z( DRAWN (5 PRO-SOLUTIONS
w |9 DESIGNED BY | ELECTRO
[a4
i CHECKED BY | HWESTBURY Al
o
< APPROVED BY | A KETLEY D O H [ EO ,‘ Q S D O O/‘ REVISION
DATE APPROVED | 13/MAY/19 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-24



Overhead Distribution Construction Manual Section 5
Vertical Links in HV Strain Pole — Materials List
1 2 \ 3 \ L 5
A
1 [Unit Assembly Store Type | Iltem Ref | Stock Item |Stock Item Description Quantity
VL/11/3/PLM S 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
VL/22/3/PLM 1E 323305 |CROSSARMSTEEL 100 X 100 X2210MM GAL 2
8 1G 323309 |CROSSARMSTEEL 75 X75 X 2210MM GAL 2
2A 323314 |BRACE,CROSSARM40 X700 X 5MM THICK GAL 4
2B 323317 |BRACE,CROSSARM40 X 5 X 500MM FLAT GAL 2
41B 157877 |SLEEVING,ELECT INSUL POLY 6MM X 30M BLK 9
] 59A 322721 |PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 3
60E 320531 |INSULATOR PIN 22KV AERO PORCELAIN 3
60G 321260 |INSULATOR,SUSPENSION 146MM DISC D70S 6
C 61A 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 6
61B 322386 |CONNECTOR,ROD-END 16MM80KN MIN-FAIL MCI 6
61D 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 6
| 74K 32212 |BOLTHEXHEAD M12 X 50MM GAL. C/W NUT 2
75N 32288 |BOLTHEXHEAD M16 X 350MM GAL. C/W NUT 3
752 32261 |BOLTHEXHEAD M16 X45MM GAL. C/W NUT 4
778 33771 |BOLTHEXHEAD M12 X 35MM GAL. C/W NUT 8
D 82A 40441 [NUT,HEXM16 THREAD GALANISED STEEL 3
86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 3
87C 65615 |WASHER FLAT ROUND M12 X 28MM GAL 10
| 88B 66413 |WASHER FLAT ROUND M16 X 30 X 5MM GAL 4
9A 323325 |FUSE BACKET, MK25 30° 3
236089 |SWITCHING GROUP 24KV X 1P VERTICAL CW-AD 3
3
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v trading as TasNetworks SR TRANSHITIED BY'ANY NEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy TMLE SCALE
-2 TasNetworks VERTICAL (307) LINKS STRAIN 11kV OR 22kV NTS
<|2 — — MK5 CROSSARM
o« % WN (5 PRO-SOLUTION: MATER‘ALS L‘ST
w | = DESIGNED BY ELECTRO A A
[a e
= o CHECKED BY H.WESTBURY
< APPROVED BY | A KETLEY _ _ _ REVISION
DATE APPROVED | 13/MAY/19 D O H [ E O /‘ L O O 2 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-25



Overhead Distribution Construction Manual Section 5

5.4.3 Tee-Off Vertical HV Links
- o

1 [ 2 [ 3 [ 4 [ 5
— (550 ) AL/AL
Ja = ‘ R
(55E ) AL/CU
A ;
=
n
| -
USE INSULATED CONDUCTOR OR
- FIT INSULATED SLEEVING
3 778
il s
- LAV
q
B 3 G
0 <
1 [T
=
5
olw >
2|3
M=
1=
w O
©
C o REFER SECTION 3
= FOR DETAILS OF TOP
/HV CONSTRUCTION
NB OUTER LINKS
OMITTED FOR
D CLARITY
CONDUCTOR TIE
T0 SUIT
VERTICAL SWITCH LINKS
S.I. No. 23.60.89
|
E ‘ N
o |
I I
I I
L I I
N I
I I
™~ I ~ ! )
3 ¥ B3 3
@ e (.) R — - @
F o= o
N
| |
| |
| I
L A
| I
I
I
ol Eﬁ
I
G ] PLAN SHOWING
74%%3;{)5‘% o 100x100x8 ANGLE CROSSARMS
H
APL Nos
TL/1/3/PLM DIMENSIONS ARE IN MILLIMETRES
TL/22/3/PLM UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" trad TasNet k STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as lasNerworxs OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
213 TasNetworks TImLE SCALE
— 14 TEE OFF VERTICAL HV LINKS 11kV OR 22kV 1:30
<|o
o Z DRAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY ELECTRO
[a4
=l CHECKED BY H.WESTBURY AL
o
< APPROVED BY | A KETLEY D O H [ EO ,‘ 5 S D O O,‘ REVISION
DATE APPROVED | 13/MAY/19 A

Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-26



Overhead Distribution Construction Manual

Section 5

Tee-Off Vertical HV Links — Materials List

1 \ 2 \ 3 L 5
A
B
Unit Assembly Store Type | ltem Ref | Stock ltem [Stock ltem Description Quantity
TL/M1/3/PLM S 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
TL/22/3/PLM 1E 323305 [CROSSARM,STEEL 100 X 100 X2210MM GAL 1
excludes top HV construction, 1G 323309 |CROSSARM,STEEL 75 X75 X2210MM GAL 2
bridging and connectors 59A 322721 |PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 4
includes Tee-off crossarm 60E 320531 |[INSULATOR,PIN 22KV AERO PORCELAIN 4
C 60G 321260 [INSULATOR,SUSPENSION 146MM DISC D70S 3
61A 322056 [CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 3
61B 322386 [CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 3
61D 322090 ([CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 3
75N 32288 [BOLT,HEXHEAD M16 X350MM GAL. C/W NUT 2
75Z 32261 BOLT,HEXHEAD M16 X45MM GAL. C/W NUT 4
77B 33771 BOLTHEXHEAD M12 X35MM GAL. C/W NUT 6
86B 65158 [WASHER,FLAT ROUND M16 X 50MM GAL 3
D 87C 65615 [WASHER,FLAT ROUND M12 X28MM GAL 8
88B 66413 [WASHER,FLAT ROUND M16 X 30 X5MM GAL 2
9A 323325 #N/A 3
#N/A 236089 [SWITCHING GROUP,24KV X 1P VERTICAL CW-AD 3
— 2A 323314 [BRACE,CROSSARM40 X700 X5MM THICK GAL 4
82A 40441 NUT,HEXM16 THREAD GALANISED STEEL 2
41B 157877 |SLEEVING,ELECT INSUL POLY 6MM X 30M BLK 12
£
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
v trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°l3 TasNetworks e SCLE
1A TEE OFF VERTICAL HV LINKS 11kV OR 22kV NTS
<|z MATERIALS LIST
o |2 DRAWN €5 PRO-SOLUTIONS
w |2 DESIGNED BY ELECTRO AL
o
e CHECKED BY | HWESTBURY
< APPROVED BY | A KETLEY REVISION
< _ — _
D - OHC - E015 - 5D - 002 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-27



Overhead Distribution Construction Manual Section 5

5.5 Air Break Switches

5.5.1 Horizontal ABS AK Power
[ ]

1 [ 2 [ 3 L 5
35E ) LUG TO SUIT CONDUCTOR SIZE ,
TYPE- USE BIMETAL IF ALUMINIUM REFER SECTION
L 3.7 FOR DETAILS
NB OF HV STRAIN
A = MAINTAIN MINIMUM CONSTRUCTION
= PHASE TO EARTH o
1 _— CLEARANCE
2 = i
= o —N\N—— ¢
*% — = >~2|»1 - \\
B
. LIFTING POINTS
DN ROD UPPER SECTION FRP
— 3000LG 50 x 3 SHS (DIA 16 HOLES)
C
LINK STICK OPERATED DETAIL
ROCKER TYPE HANDLE
D
NB
THIS ARRANGEMENT IS STRICTLY FOR LIVELINE POSSUM
MAINTENANCE WORK ONLY AND WHEN THERE IS NO PRACTICAL GUARD
MEANS OF DISCONNECTING THE EARTH FROM THE AIRBREAK SWITCH.
— POSSUM UNDER NO CIRCUMSTANCES SHALL THE HV EARTH BE LEFT IN AN D)
GUARD OPEN CIRCUIT CONDITION.
£
s L <l L=
SIS NN NN
GROUND LEVEL
NOTES AR R NN
1. ITEM 63W (S.l. No. 23.57.09) IS ABS WITHOUT ARC CHUTES REFER SECTION
2. ON 5/C POLES, USE 63X (S.I. No. 23.57.11) POLE HANDLE ADAPTOR KIT 12.6 _FOR
EARTHING DETAILS
G
H
APL Nos:
ABS/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
ABS/22/3/PLM UNLESS OTHERWISE STATED
©Tusmumun Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
wn trad T Net Kk STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as fasNerworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
2 TasNetworks TTE SIALE
14 HORIZONTAL AIR BREAK SWITCH NTS
< |o AK POWER - SILICONE INSULATORS
P ; DRAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY ELECTRO
[a e
= e CHECKED BY H.WESTBURY AA
_
< APPROVED BY | A KETLEY _ _ _ _ REVISION
DATE APPROVED | 13/MAY/19 D O H [ E O W 6 S D O O /‘ A

Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-28



Overhead Distribution Construction Manual

Section 5

Horizontal ABS AK Power — Materials List

1 \ 2 \ 3 L

A

Unit Assembly Store Type | ltem Ref | Stock Item |Stock Item Description Quantity

ABS/11/3/PLM S 63V 235708 [SWITCHING GROUP,24KV X 3P HOR/VERT CW-AD 1

ABS/22/3/PLM 75P 32289 |BOLTHEXHEAD M16 X375MM GAL. C/W NUT 2
B excludes HV strain construction, 86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 2

lugs and earthing
C
D
£
F
G
H

DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» trad TasNetwork STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading das 1asherworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
213 TasNetworks Time SCALE
Z 5 HORIZONTAL AIR BREAK SWITCH NTS
<|z AK POWER - SILICON INSULATORS
DRAWN €5 PRO-SOLUTIONS
= MATERIALS LIST
w |8 DESIGNED BY | ELECTRO AA
= e CHECKED BY | HWESTBURY
=
< APPROVED BY | A KETLEY _ _ _ _ REVISION
D - OHC - E016 - 5D - 002 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-29



Overhead Distribution Construction Manual

Section 5

5.5.2 Vertical ABS — AK Power

-

1 [ 2 [ [ 4 5
LUG TO SUIT CONDUCTOR
SIZE. TYPE - USE BIMETAL
S IF ALUMINIUM
A <
3
3
= NoTE 1(63V )
o
2
= LIFTING POINTS
(DIA 16 HOLES)
B =
S
=S
NB.
MAINTAIN MINIMUM
PHASE T0 EARTH
] A CLEARANCE
DOWN ROD
UPPER SECTION —1
FRP 3000LG 50 x 3 SHS
C
LINK STICK OPERATED } DETAIL
ROCKER TYPE HANDLE
L NB
THIS ARRANGEMENT IS STRICTLY FOR LIVELINE
MAINTENANCE WORK ONLY AND WHEN THERE IS
NO PRACTICAL MEANS OF DISCONNECTING THE
EARTH FROM THE AIRBREAK SWITCH. UNDER NO POSSUM GUARD
POSSUM GUARD CIRCUMSTANCES SHALL THE HV EARTH BE LEFT
D IN AN OPEN CIRCUIT CONDITION.
E L= L <=
- =
S AADNADNDNADN
GROUND LEVEL
L SESASE
REFER SECTION 12.6
FOR EARTHING DETAILS
L =)
F
G
NOTES
1. ITEM 63W (S.I No. 23.57.09) IS ABS WITHOUT ARC CHUTES
2. ON S/C POLES, USE 63X (S.l. No. 23.57.11) POLE HANDLE ADAPTOR KIT
H
APL Nos
ABS V/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
ABS V/22/3/PLM UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
v frading as TasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
212 TasNetworks Time SCALE
A VERTICAL AIR BREAK SWITCH 1.50
< | AK POWER - SILICONE INSULATORS
o ; DRAWN (5 PRO-SOLUTIONS
w |9 DESIGNED BY ELECTRO
[a4
=l CHECKED BY H.WESTBURY AL
: APPROVED BY A KETLEY O /‘ 7 O O REVISION
DATE APPROVED | 13/MAY/19 D O H[ E S D /‘ A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-30



Overhead Distribution Construction Manual Section 5

Vertical ABS — AK Power — Materials List

1 \ 2 \ 3 L 5

A

Unit Assembly Store Type | Item Ref | Stock Item |Stock Item Description

ABSV/11/3/PLM S 63V 235708 |SWITCHING GROUP,24KV X3P HOR/VERT CW-AD

ABSV/22/3/PLM 75P 32289 BOLT,HEXHEAD M16 X375MM GAL. C/W NUT

excludes HV strain construction, 86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL
B lugs and earthing
(
D
£
F
G
H

DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
- Fradng a5 Tasirks S LA
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy TILE SCALE
- |3 TasNetworks HORIZONTAL AIR BREAK SWITCH NTS
<|z AK POWER - SILICONE INSULATORS
o % DRAWN (5 PRO-SOLUTIONS MATER‘ALS L‘ST
[T =4 DESIGNED BY ELECTRO A Z*'
=
Z © CHECKED BY HWESTBURY
<t APPROVED BY A KETLEY _ _ _ _ REVISION
DATE APPROVED | 24/APR/19 D O H [ E O /‘ 7 S D O O 2 A

Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-31



Overhead Distribution Construction Manual Section 5
5.6.1 NOJA Recloser with Air Break Switch
CAUTION : Printed document is unconfrolled.
1 2 3 | 4 5
OUTGOING INCOMING
s ~JUTLUNG _INCOMING
P ) © (
— —
A &
[=e]
&
=
wv
wv
o
— &
[2a]
N
<<
CABLES T e ——— = __5_—+———
SUPPLIED EQ Z
B WITH UNIT.
4128
|
L |
x=
I— EZ
b= LE
o
w I
O
SEE NOTE 5 | £ S\ — =5 __/
_ L SEE NOTE 7
=
»
D —
% =
W (-4
\ Wt
o SEE NOTE 6
3] SEE NOTE 2 & - %
— - 2 FOR DETAILS SEE:
=z 8 DRAWING D-OHC-E024-SD-001
% L AND APL D-OHC-E024-SD-002 |OO
FOR DETAILS SEE: w =
DRAWING D-OHC-E024-SD-001—= ] o
AND APL D-OHC-E024-SD-002 g
E 2 1 =
L i I O
y ¥ LINK STICK OPERATED
\,/RO(KER TYPE HANDLE
. 2l o
i M% |
55L POSSUM GUARD REFER SECTION 12.6 —J o
TO BE FITTED. FOR EARTHING DETAILS
NOTES |
1. EARTH CONDUCTOR TO BE 70mm’ 0.6/1kV COPPER PVC FIXED TO
m POLE ON OPPOSITE SIDE TO AIR BREAK SWITCH HANDLES. g
~ 2. F LV DISTRIBUTION IS TO BE INSTALLED ON THE POLE, ONLY LV 3
o ABC IS TO BE PERMITTED AND A 13.5m 8kN Pl POLE WILL BE USED. o
N 3. ARC BREAKING DEVICES ARE NOT REQUIRED.
N EARTH LEAD L. BATTERIES SUPPLIED WITH RECLOSER HAVE 5-7 YEAR LIFE.
) DISCONNECTOR F TP 5. DO NOT BREAK INSULATION ON RECLOSER BUSHING LEADS '
Dlg CLOSER THAN 1.0m FROM THE TOP OF THE BUSHING BOOT. [¥a)
< 6. RECLOSER MOUNTED SURGE DIVERTER DISCONNECT EARTH LEADS O
TO BE TERMINATED ON RECLOSER STEELWORK.
N INSULATED 7. EARTH DISCONNECT LEADS TO BE SECURED SO THAT CONTACT |
2 STANDOFF BRACKET WILL NOT OCCUR WITH HV BUSHINGS DURING OPERATION.
8. LIGHTNING ARRESTOR TERMINALS, RECLOSER TANK, CONTROL CUBICLE o
| I FRAME AND OPERATING HANDLE OF AIR BREAK SWITCH TO BE BONDED o
F— TOGETHER AND EARTHED. —_
9. INCOMING SIDE SHOULD SUPPLY NOJA VT. THIS WILL PROVIDE TELEMETRY
BONDED TO POLE AND CHARGE RECLOSER WHEN IT IS OPEN.
L STEELWORK
— < ) DETAIL
<
ol S/C POLE -
= REFERENCE DRAWINGS NOJA/11/ABS/PLM DIMENSIONS ARE IN MILLIMETRES |
S D-0HC-G026-SD-001, D-OHC-G031-5D-001 NOJA/22/ABS/PLM UNLESS OTHERWISE STATED <
- ] (© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWNG MAY BE REPRODUCED, |
HERER( S rang a3 Toshetuorks s L e | 2
Ll =z o E N ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS <
r|°e|s|2 L5 5 % TasN rk T SAE
el %552 asNetworks RECLOSER NOJA WITH AIR BREAK SWITCH 145
< [ = = [E28s) o
E ~ 12|22 ORAWN (5 PRO-SOLUTIONS
alw S Eg DESIGNED BY | ELECTRO AL
AN Slga CHECKED BY | H.WESTBURY
g !
[ Qe APPROVED BY | A KETLEY REVISION
<< [-X=] — — — —
> <2 W v | anae7m D - OHC - E020 - SD - 001 B
DWG STATUS CONSTRUCTION
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-32



Overhead Distribution Construction Manual

Section 5

NOJA Recloser with ABS — Materials List

1 2 \ 3 L 5
Unit Assembly Store Type | ltem Ref | Stock ltem [Stock ltem Description Quantity
NOJA/11/3ABS/PLM s 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
119F | 225772 |SURGE DIVERTER,OD 10KAX 11KV 6
A 1D 323304 |CROSSARM,STEEL 75 X 75 X 2210MM MK4 GAL 1
1G 323309 |CROSSARM,STEEL 75 X 75 X 2210MM GAL 2
35E 141363 |LUG,CRIMP TERMINAL M12 X 70MM2 COPPER 13
35P 141299 [LUG,BOLTED TERMINAL M12 X 16MM2 CU 3
36C 141304 [LUG,BOLTED TERMINAL M12 X 50-70MM2 CU 4
— 55E 144955 |CLAMP,PG OH CONNECT 7.5-17.5/7.5-17.5 BM 3
55H 146856 |CONNECTOR,CLAMP C SPLIT BOLT 70MM2 MAX 8
55L 225798 |CLAMP,T-TYPE 75 X 120MM 7-19MM COND ALUM 3
60G 321260 |INSULATOR SUSPENSION 146MM DISC D70S 12
60H 320735 |INSULATOR STANDOFF 24KV 305MM POLYMERIC 1
B 61A 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 6
61B 322386 |CONNECTOR,ROD-END 16MM80KN MIN-FAIL MCI 6
61D 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 12
63V 235708 |SWITCHING GROUP,24KV X 3P HORVERT CW-AD 1
63W 235709 |SWITCHING GROUP,24KV X 3P HORVERT NO-AD 1
[ 75M 32287 |[BOLTHEXHEAD M16 X 325MM GAL. CW NUT 7
75P 32289 [BOLT.HEXHEAD M16 X 375MM GAL. CW NUT 4
75R 32291 [BOLT.HEXHEAD M16 X 425MM GAL. CW NUT 2
752 32261 |BOLT,HEXHEAD M16 X45MM GAL. GIW NUT 4
76C 32340 [BOLT,HEXHEAD M20 X 400MM GAL. GW NUT 4
C 778 33771 |BOLT,HEXHEAD M12 X 35MM GAL. CIW NUT 18
828 40442 [NUTHEXM20 THREAD GALANISED STEEL 4
86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 13
86C 65159 |WASHER,FLAT ROUND M20 X 60MM GAL 4
[ 87B 65614 |WASHER,FLAT ROUND M10 X 21MM GAL 6
88A 66412 |WASHER,FLAT ROUND M12 X 24MM GAL 6
32183 [BOLT,HEXHEAD M10 X 55MM GAL. CIW NUT 6
146859 |CONNECTOR CLAMP LP SPLIT BOLT 70-120MM2 1
152490 [LUG,CRIMP 50MM2 X M12 HOLE BI-METAL 2
D 236088 |SWITCHING GROUP,24KV X 1P VERTICAL NO-AD 3
990809 |RECLOSER.AUTO 27KV SWITCHING GRP 11KV VT 1
152482 [LUG,CRIMP 185MM2 X M12 HOLE BI-METAL 6
2A 323314 |BRACE,CROSSARM40 X700 X 5MM THICK GAL 4
— NOJA22/3ABS/PLM s 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
119G | 225773 |SURGE DIVERTER,OD 10KAX 22KV 6
1D 323304 |CROSSARMSTEEL 75 X 75 X 2210MM MK4 GAL 1
1G 323309 |CROSSARMSTEEL 75 X 75 X 2210MM GAL 2
35E 141363 |[LUG,CRIMP TERMINAL M12 X 70MM2 COPPER 13
E 35P 141299 [LUG,BOLTED TERMINAL M12 X 16MM2 CU 3
36C 141304 |LUG,BOLTED TERMINAL M12 X 50-70MM2 CU 4
55E 144955 |CLAMP,PG OH CONNECT 7.5-17.5/7.5-17.5 BM 3
55H 146856 |CONNECTOR,CLAMP C SPLIT BOLT 70MM2 MAX 8
55L 225798 |CLAMP,T-TYPE 75 X 120MM 7-19MM COND ALUM 3
1 60G 321260 |INSULATOR SUSPENSION 146MM DISC D70S 12
60H 320735 |INSULATOR STANDOFF 24KV 305MM POLYMERIC 1
61A 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 6
61B 322386 |CONNECTOR,ROD-END 16MM80KN MIN-FAIL MCI 6
61D 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 12
F 63V 235708 |SWITCHING GROUP,24KV X 3P HORVERT CW-AD 1
63W 235709 |SWITCHING GROUP,24KV X 3P HORVERT NO-AD 1
75M 32287 |BOLT,HEXHEAD M16 X 325MM GAL. CW NUT 7
75P 32289 [BOLT,HEXHEAD M16 X 375MM GAL. GIW NUT 4
L 75R 32291 [BOLT,HEXHEAD M16 X 425MM GAL. CW NUT 2
752 32261 [BOLT,HEXHEAD M16 X45MM GAL. CW NUT 4
76C 32340 [BOLT,HEXHEAD M20 X 400MM GAL. C/W NUT 4
77B 33771 |BOLT.HEXHEAD M12 X 35MM GAL. CIW NUT 18
828 40442 [NUTHEXM20 THREAD GALANISED STEEL 4
G 86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 13
86C 65159 |WASHER,FLAT ROUND M20 X 60MM GAL 4
87B 65614 |WASHER,FLAT ROUND M10 X 21MM GAL 6
88A 66412 |WASHER,FLAT ROUND M12 X 24MM GAL 6
32183 [BOLT,HEXHEAD M10 X 55MM GAL. CW NUT 6
— 146859 |CONNECTOR,CLAMP LP SPLIT BOLT 70-120MM2 1
152490 [LUG,CRIMP 50MM2 X M12 HOLE BI-METAL 2
236088 |SWITCHING GROUP,24KV X 1P VERTICAL NO-AD 3
990808 |RECLOSER,AUTO 22KV SWITCHING GRP 22KV VT 1
152482 [LUG,CRIMP 185MM2 X M12 HOLE BI-METAL 6
H 2A 323314 |BRACE,CROSSARM40 X 700 X 5MM THICK GAL 4
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. STORED I A RETREVAL SYSTEM N ANY FORM,
b trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
S TITLE SCALE
- |3 TasNetworks RECLOSER - NOJA WITH AIR BREAK SWITCH NTS
<|o MATERIALS LIST
S DRAWN €5 PRO-SOLUTIONS
w g DESIGNED BY ELECTRO A A
=1e CHECKED BY | HWESTBURY
; APPROVED BY | A KETLEY O O 2 REVISION
DATE APPROVED | 13/MAY/19 D O H[ E O 2 O S D A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-33



Overhead Distribution Construction Manual

Section 5

-

5.6.2 NOJA Recloser with No ABS

1 l 2 l b 5
OUTGOING INCOMING
3 L JPTHYIRY -
/ m \
’ﬁ + . +
A T ‘
| !
I
441 4
CABLES [ \
— SUPPLIED |
WITH UNITS || o
pm E=
| ;%
I ==
B ‘ yE
SEE NOTE 5 L o
[ £ z
wnw
L
- SEE NOTE 7
- - o
: W
)
T 4 }
.71}% S N
5
&
Kl SEE NOTE 2 9 s SEE NOTE 6
3
pre}
[2'4
D FOR DETAILS SEE FOR DETAILS SEE
DRAWING D-OHC-E024-SD-001 DRAWING D-OHC-E024-SD-001
AND APL D-OHC-E024-5D-002 il AND APL D-OHC-E024-5D-002
el [ ||
| = \
[2'4
S
w
w
o
o
]
E
REFER SECTION 12.6 =
E 5L FOR EARTHING DETAILS
NOTES
1. EARTH CONDUCTOR TO BE 70mm’ 0.6/1kV COPPER PVC FIXED TO
POSSUM GUARD POLE ON OPPOSITE SIDE TO AIR BREAK SWITCH HANDLES.
] T0 BE FITTED. 2. IF LV DISTRIBUTION IS TO BE INSTALLED ON THE POLE, ONLY LV
ABC IS TO BE PERMITTED AND A 13.5m 8kN Pl POLE WILL BE USED.
3. ARC BREAKING DEVICES ARE NOT REQUIRED.
EARTH LEAD L. BATTERIES SUPPLIED WITH RECLOSER HAVE 5-7 YEAR LIFE.
1~ DISCONNECTOR 5. DO NOT BREAK INSULATION ON RECLOSER BUSHING LEADS
CLOSER THAN 1.0m FROM THE TOP OF THE BUSHING BOOT.
G INSULATED 6. RECLOSER MOUNTED SURGE DIVERTER DISCONNECT EARTH LEADS
STANDOFF BRACKET TO BE TERMINATED ON RECLOSER STEELWORK.
BONDED T0 POLE 7. EARTH DISCONNECT LEADS TO BE SECURED SO THAT CONTACT
STEELWORK WILL NOT OCCUR WITH HV BUSHINGS DURING OPERATION.
8. LIGHTNING ARRESTOR TERMINALS, RECLOSER TANK, CONTROL CUBICLE
I I O FRAME AND OPERATING HANDLE OF AIR BREAK SWITCH TO BE BONDED
TOGETHER AND EARTHED.
DETAIL { >
H S/C POLE
APL Nos
REFERENCE DRAWINGS NOJA/11/PLM DIMENSIONS ARE IN MILLIMETRES
D-OHC-G026-SD-001, D-OHC-G031-SD-001 NOJA/22/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» tradin TasNet k STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
g as lasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°ls TasNetworks TITLE SCALE
— 4 RECLOSER-NOJA WITH NO AIR BREAK SWITCH 145
< |
o Z DRAWN (5 PRO-SOLUTIONS
w |9 DESIGNED BY ELECTRO
[a4
i CHECKED BY | HWESTBURY AQ
2 APPROVED BY A KETLEY REVISION
< _ _ _
DATE APPROVED | 13/MAY/19 D O H [ E O 2/‘ S D O O/‘ A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-34



Overhead Distribution Construction Manual

Section 5

NOJA Recloser with No ABS — Materials List

1 2 \ 3 5
Unit Assembly Store Type | Item Ref | Stock Iltem |Stock ltem Description Quantity
A NOJA/11/PLM S 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
119F 225772 |SURGE DIVERTER,OD 10KAX 11KV 6
1D 323304 |CROSSARM,STEEL 75 X75 X2210MM MK4 GAL 1
1E 323305 |CROSSARM,STEEL 100 X100 X2210MM GAL 2
35E 141363 |LUG,CRIMP TERMINAL M12 X70MM2 COPPER 13
] 35P 141299 |LUG,BOLTED TERMINAL M12 X 16MM2 CU 3
36C 141304 |LUG,BOLTED TERMINAL M12 X50-70MM2 CU 4
55E 144955 |CLAMP,PG OH CONNECT 7.5-17.5/7.5-17.5 BM 6
55H 146856 |CONNECTOR,CLAMP C SPLIT BOLT 70MM2 MAX 8
B 55L 225798 |CLAMP,T-TYPE 75 X 120MM 7-19MM COND ALUM 3
60G 321260 [INSULATOR,SUSPENSION 146MM DISC D70S 6
60H 320735 |INSULATOR,STANDOFF 24KV 305MM POLYMERIC 1
61A 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 6
61B 322386 |CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 6
61D 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 12
75M 32287 BOLT,HEXHEAD M16 X 325MM GAL. C/W NUT 7
75P 32289 BOLT,HEXHEAD M16 X375MM GAL. C/W NUT 4
75R 32291 BOLT,HEXHEAD M16 X425MM GAL. C/W NUT 2
C 75Z 32261 BOLT,HEXHEAD M16 X45MM GAL. C/W NUT 4
76C 32340 BOLT,HEXHEAD M20 X400MM GAL. C/W NUT 4
77B 33771 BOLT,HEXHEAD M12 X35MM GAL. C/W NUT 18
82B 40442 NUT,HEXM20 THREAD GALANISED STEEL 4
- 86B 65158 WASHER,FLAT ROUND M16 X 50MM GAL 13
86C 65159 WASHER FLAT ROUND M20 X 60MM GAL 4
87B 65614 WASHER,FLAT ROUND M10 X21MM GAL 6
88A 66412 WASHER,FLAT ROUND M12 X 24MM GAL 6
D 32183 BOLT,HEXHEAD M10 X55MM GAL. C/W NUT 6
146859 |CONNECTOR,CLAMP LP SPLIT BOLT 70-120MM2 1
152490 |LUG,CRIMP 50MM2 X M12 HOLE BI-METAL 2
990809 |RECLOSER,AUTO 27KV SWITCHING GRP 11KV VT 1
2A 323314 |BRACE,CROSSARM40 X700 X 5MM THICK GAL 6
NOJA22/PLM S 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
119G 225773 |SURGE DIVERTER,OD 10KA X 22KV 6
1D 323304 |CROSSARM,STEEL 75 X75 X2210MM MK4 GAL 1
1E 323305 |CROSSARM,STEEL 100 X 100 X 2210MM GAL 2
E 35E 141363 |LUG,CRIMP TERMINAL M12 X 70MM2 COPPER 13
35P 141299 |LUG,BOLTED TERMINAL M12 X 16MM2 CU 3
36C 141304 |LUG,BOLTED TERMINAL M12 X50-70MM2 CU 4
55E 144955 |CLAMP,PG OH CONNECT 7.5-17.5/7.5-17.5 BM 6
55H 146856 |CONNECTOR,CLAMP C SPLIT BOLT 70MM2 MAX 8
55L 225798 |CLAMP,T-TYPE 75 X 120MM 7-19MM COND ALUM 3
60G 321260 |INSULATOR,SUSPENSION 146MM DISC D70S 12
60H 320735 |[INSULATOR,STANDOFF 24KV 305MM POLYMERIC 1
61A 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 6
F 61B 322386 |CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 6
61D 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 12
75M 32287 BOLT,HEXHEAD M16 X 325MM GAL. C/W NUT 7
75P 32289 BOLT,HEXHEAD M16 X375MM GAL. C/W NUT 4
— 75R 32291 BOLT,HEXHEAD M16 X425MM GAL. C/W NUT 2
752 32261 BOLT,HEXHEAD M16 X45MM GAL. C/W NUT 4
76C 32340 BOLT,HEXHEAD M20 X400MM GAL. C/W NUT 4
77B 33771 BOLTHEXHEAD M12 X35MM GAL. C/W NUT 18
¢ 82B 40442 NUT,HEXM20 THREAD GALANISED STEEL 4
86B 65158 WASHER FLAT ROUND M16 X 50MM GAL 13
86C 65159 WASHER,FLAT ROUND M20 X 60MM GAL 4
87B 65614 WASHER,FLAT ROUND M10 X 21MM GAL 6
88A 66412 WASHER FLAT ROUND M12 X 24MM GAL 6
32183 BOLT,HEXHEAD M10 X 55MM GAL. C/W NUT 6
146859 |CONNECTOR,CLAMP LP SPLIT BOLT 70-120MM2 1
152490 |LUG,CRIMP 50MM2 X M12 HOLE BI-METAL 2
990808 |RECLOSER,AUTO 22KV SWITCHING GRP 22KV VT 1
H 2A 323314 |BRACE,CROSSARM40 X700 X 5MM THICK GAL 6
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» trad TasNetwork STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading das 1asherworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w SCALE
°ls TasNetworks TITLE
5 RECLOSER - NOJA WITH NO AIR BREAK SWITCH NTS
<|2 MATERIALS LIST
o |2 DRAWN (5 PRO-SOLUTIONS
o
t 2 DESIGNED BY | ELECTRO A A
© CHECKED BY HWESTBURY
-
APPROVED BY | A KETLEY REVISION
< _ — _
DATE APPROVED | 08/MAY/19 D O H [ S D O O 2 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-35
7 7



Overhead Distribution Construction Manual Section 5

5.6.3 NOJA Recloser — Retrofit Materials

1 | 2 | 3 | A 5
A
Unit Assembly Store Type | Item Ref|Stock Item [Stock Item Description Quantity
NOJA/11/RETRO/PLM S 119F 225772 |Lightning Arrester (NOT L/L TESTED) ABB 11kV 10kA c/w bird cap & M12 studs 1
35E 141363 |Lug Crimp 70mm?tinned copper 13
Bl 35P 141299 |Lug Bolted 16mm? 12 hole 3
55E 144955 |Parallel groove clamp (7.5-17.5mm Bi metal) 6
55L 225798 |[Tee Clamp AL TCDA19 3
B 60H 320735 |Insulator Raychem standoff 24kV set of 3 1
75P 32289 |BoltHexM16 X375 4
75R 32291 |BoltHexM16 X425 2
76C 32340 |BoltHexM20 X400 4
— 828 40442 [NutmM20 4
86B 65158 |Washer Els 16 6
86C 65159 |Washer Els 20 4
C 88A 66412 [Washer Tower 12 6
146859 ([SplitBolt Clamp (for 70-120sq-mm Earth Leads) 1
152490 ([Lug Crimp Bimetal 50m m?2M12 2
990809 [Recloser/Sectionaliser/LBS 11kV NOJA cw Cont. Cubicle, VTs and Leads etc 1
— 152482 |[Lug Crimp Bimetal 185mm?M12 6
NOJA22/RETRO/PLM S 119G 225773 [Lightning Arrester (NOT L/L TESTED) ABB 22kV 10kA c/w bird cap & M12 studs 6
35E 141363 |Lug Crimp 70mm?tinned copper 13
D 35P 141299 |Lug Bolted 16mm? 12 hole 3
55E 144955 |Parallel groove clamp (7.5-17.5mm Bi metal) 6
55L 225798 |[Tee Clamp AL TCDA19 3
L 60H 320735 |Insulator Raychem standoff 24kV set of 3 1
75P 32289 |BoltHexM16 X375 4
75R 32291 Bolt HexM16 X425 2
76C 32340 |BoltHexM20 X400 4
E 82B 40442 |NutM20 4
86B 65158 |Washer Els 16 6
86C 65159 |Washer Els 20 4
88A 66412 [Washer Tower 12 6
] 146859 ([SplitBolt Clamp (for 70-120sq-mm Earth Leads) 1
152490 [Lug Crimp Bimetal 50m m2M12 2
990808 |[Recloser/Sectionaliser/LBS 22kV NOJA cw Cont. Cubicle, VTs and Leads etc 1
F 152482 |Lug Crimp Bimetal 185mm?M12 6
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
i NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 O g 5 Toarworks 1 Sy EEAr b A
z - ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS -
-2 TasNetworks | ""pECLOSER - NOJA RETROFIT NTS
<[z MATERIALS LIST
~ |= DRAWN (5 PRO-SOLUTIONS
= DESIGNED BY | ELECTRO
: g CHECKED BY H.WESTBURY AL
: APPROVED BY REVISION
DATE APPROVED | 08/MAY/19 D - OHC - E022 - SD - 001 A

Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-36



Overhead Distribution Construction Manual

Section 5

5.6.4 Modem for Recloser

1 | 2 | A 5
A
ul
B
C
D
RADIO LINK
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
% trading as TasNetworks OR TRANSHITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
oy TITLE SCALE
-3 TasNetworks RECLOSER-NOJA RADIO LINK
— |2 NTS
<=2 ORAWN (5 PRO-SOLUTIONS
@ |Z
w |8 DESIGNED BY ELECTRO
Ld g (HECKED BY H.WESTBURY AL
2 APPROVED BY REVISION
< — — — —
DATE APPROVED | 08/MAY/19 D O H E E 0 2 [" S D O O 1 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-37



Overhead Distribution Construction Manual Section 5
Modem for Recloser — Materials List
™ 1 \ 2 \ 3 4
A
Unit Assembly Store Type | Item Ref|Stock Item|Stock Item Description Quantity
| |[MODEM/NOJA/IOPTUS S 152630 [CONDUIT,FlexCrgtd PVC 20mm x50m MD Gry 10
133155 [PLUG,TNC Crimp Connector /s RG58U Cable 2
133157 [BRACKET,Angle 1.5mm L-Shaped MB403SS 1
b 133158 [CONNECTOR,SMA Male Plug RG58 Crimp 2
133159 |PROTECTION UNIT,Coaxial Cable TCM Fm/FM 1
|| 133184 |MODEM,GE Orbit, ECR Optus 1
133187 |ANTENNAA4G,LTE, Collinear, 5dBi 1
133174 |CABLE,Ethernet CAT5E 1m Blue Patch Lead 1
C 231320 |SWITCH,Isolation 20Ax250V x2P LV OD 1
MODEM/NOJA/TELSTRA S 152630 [CONDUIT,FlexCrgtd PVC 20mm x50m MD Gry 10
133155 |PLUG,TNC Crimp Connector t/s RG58U Cable 2
— 133157 |BRACKET,Angle 1.5mm L-Shaped MB403SS 1
133158 |CONNECTOR,SMA Male Plug RG58 Crimp 2
133159 [PROTECTION UNIT,Coaxial Cable TCM Fm/FM 1
D 133186 |MODEM,GE Orbit, ECR Telstra 1
133187 [ANTENNAA4G,LTE, Collinear, 5dBi 1
133174 |CABLE,Ethernet CAT5E 1m Blue Patch Lead 1
] 231320 |SWITCH,Isolation 20Ax250V x2P LV OD 1
£ Unit Assembly Store Type|ltem Ref|Stock Item|Stock Item Description Quantity
MODEM/NULEC/OPTUS S 133157 |BRACKET,Angle 1.5mm L-Shaped MB403SS 1
133174 |CABLE,Ethernet CAT5E 1m Blue Patch Lead 1
— 133181 |CABLE, power, Cybertec 1000 fused 1
133184 |MODEM,GE Orbit, ECR Optus 1
133187 |ANTENNA,4G,LTE, Collinear, 5dBi 1
i 152630 CONDUIT,Flex Crgtd PVC 20mm x 50m MD Gry 10
MODEM/NULEC/TELSTR
— (A S 133157 |BRACKET,Angle 1.5mm L-Shaped MB403SS 1
133174 |CABLE,Ethernet CAT5E 1m Blue Patch Lead 1
G 133181 |CABLE, power, Cybertec 1000 fused 1
133186 |MODEM,GE Orbit, ECR Telstra 1
133187 |ANTENNA,4G,LTE, Collinear, 5dBi 1
| 152630 |CONDUIT,Flex Crgtd PVC 20mm x 50m MD Gry 10
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
2 Hadng a5 Tasetworks SIOREO I8 RETREUAL SToT A ro
= ABN: 2L 167 357 299 PRIOR PERMISSION OF TASNETWORKS
213 TasNetworks | ™ 2E (L OSER-NOJA RADIO LINK il
; § p— ey MATERIALS LIST
o oroa v Al
< D- OHC - E024 - SD - 002 | A
DATE APPROVED | 08/MAY/19
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-38



Overhead Distribution Construction Manual

Section 5

5.6.5 NOJA SWER Recloser with Transformer

| 2 | 3 | b 5
o ((82a (868 )X 87D XT206H)T207B)T209D)
55 ) or (558
T
A er M
R '
554
&
FOR FAULT TAMER
B FUSES (S.l. 23.63.28)
63U ) UP TO 2CA RATING
0R
2 537 ) POWER FUSE (BORIC ACID)
‘ (5.1 23.63.95)
[E:
I o SE )
E @ZE
oF —" !
d'] |
\\ \I >
86C X_76B —T MICHAUD SERVICE
‘ FUSE S.I. No 22.17.60
D L
e K
B | i
| o tieae k| MOUNTING BRACKET \[
L SJ. No 32.34.60 i
i . REFER D-GHC-G006-SD-001
FOR DETAILS
E | R10 CONTROL CUBICLE
REFER D-OHC-E024-SD-001
FOR DETAILS
ay
268
POSSUM GUARD ]/
TO BE FITTED. \/
N E REFER TO DRG
Z(3 D-OH1-0730-50-001
= |
- o
HE r
e =)
w
<T
GROUND LEVEL GROUND LEVEL
G
- ) NOTES:
H 1. REFER SECTION 6.1 FOR GENERAL NOTES _
2. REFER SECTION 12.5 FOR DETAILS OF EARTHIG ARRANGEMENT
3. BORIC ACID OR FAULT TAMER FUSES MUST BE USED IN THIS CONSTRUCTION :
4. A NON WOOD POLE MUST BE USED IN THIS CONSTRUCTION B';LEE\?S'OSTSH@,E&,,'S\E z'ﬁ'?EEJRES
i | 0 PART OF THIS DRAWING BE REPRODUCED
" © Tusnjumun Networks PTY. LTD. QTUPéD IN A PEITRIEV:YI SVSMTAE:‘ IN ANY FD:N
trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
il = TasNetworks e SCALE
—la SWER RECLOSER WITH EXTERNAL TRANSFORMER 140
< |z 12.7kV S.I. 422512 25kVA TRANSFORMER
o <z( DRAWN H.WESTBURY
w g DESIGNED BY B.PAPALIA AQ
= |e (CHECKED BY S.FOSTER
i
& APPROVED BY | AKETLEY REVISION
DATE APPROVED | 26/SEPT/2023 D OHC EOL}[* SD 001 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-39



Overhead Distribution Construction Manual Section 5
NOJA SWER Recloser with Transformer — Materials List
1 | 2 | 3 | i 5
Store Type | item Ref | Stock Item Stock Item Description Quantity
A Noja/12.7/Recloser S
6A 323315 [Insulator Bracket Mk15 1
51E 103217 [Cable, 1Core x 16mm2 x 7/1.70 X 0.6 V75 3
| 60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm 4
61A 322056 [Ball Clevis & Pin 16mm 2
618 322386 |Socket Termination 16mm 2
B 75N 32287 [Bolt Hex M16 x 350 - Thread Length 57mm 2
82A 40441 [Nut Hex M16 5
868 65158  |Washer ELS M16 3
— 87D 65616 |Washer NS M16 3
T206H 325636 |M16 EYE BOLT 400 - Thread Length 75mm 1
T207B 325740 [M16 EYE NUT 1
& T209D 66807 |M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
63T 236395 [KIT,Fuse Mounting 200A x 25kV 150kV BIL 1
35P 141299 (Lug Bolted 16mm2 12 hole 4
| 36C 141304 |QLUG bolted 50 70mm2 tinned copper 4
41B 157877 |Sleeving 6 1D 2 Wall 2
768 32338 |Bolt Hex M20 x 350 4
D 828 40442  [Nut M20 8
86C 65159  |Washer Els 20 8
990910 |Recloser, Noja SWER, Auto, Single Phase 1
221760 [FUSEHOLDER,B&C 100A/480V 57 x 22 Ferrule 1
] 29K 323401 |BRACKET House Service Fuse 32 x 8mm M-Ph 1
62P 144020 |Cover Insulator Protect 22kV x 13mm Poly 1
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
@ Tasmanian Networks PTY. LTD. ND PART OF THIS DRAWING MAY BE REPRODUCED,
. fradng a5 Tashetworks L
z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y TILE SCALE
-z TasNetworks SWER RECLOSER WITH EXTERNAL TRANSFORMER | yrec
< |2 12.7kV S.I. 422512 25kVA TRANSFORMER
TRAWN HWESTEURY
e MATERIALS LIST
w |2 DESIGED BY | BPaPaLls A /
(3 |
il CEQED BY SFOSTER
=
< APPROVED BY | A KETLEY _ REVISION
i o [ D OHC- EO4L SD 002 B
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-40



Overhead Distribution Construction Manual Section 5

5.7 Sectionalisers

5.7.1 Automatic Sectionaliser Notes

1 | 2 | 3 4 5

DESCRIPTION OF AUTOMATIC SECTIONALISER

THE AUTOMATIC SECTIONALISER IS SIMILAR TO AN EDO FUSE IN APPEARANCE. IN AN EDO, THE MELTING OF THE FUSE RELEASES A FUSE CARRIER FROM

A ITS MOUNT, WHEREAS A CHEMICAL ACTUATOR RELEASES THE SECTIONALISER LINK. THE ACTUATOR (REPLACEABLE) WHICH IS ACTIVATED BY A SMALL CURRENT
FROM A LOGIC CIRCUIT, CONVERTS CHEMICAL ENERGY INTO MECHANICAL MOVEMENT WHICH DELATCHES THE SECTIONALISER.

THE ELECTRONIC LOGIC IS CONTAINED ON A PRINTED CIRCUIT BOARD WITHIN THE LINK TUBE AND IS POWERED BY A CURRENT TRANSFORMER AROUND THE TUBE.

| OPERATION OF AUTOMATIC SECTIONALISER

THE LOGIC CIRCUIT IS ACTIVATED WHEN THE LINE CURRENT EXCEEDS THE “ACTUATING CURRENT” OF THE UNIT WHICH IS FACTORY SET AND CANNOT BE CHANGED.

IF THE UPSTREAM PMR (POLE MOUNTED RECLOSER) THEN OPENS, THIS INCIDENT IS STORED BY THE LOGIC CIRCUIT AS ONE COUNT. WHEN THE PMR RECLOSES

B AND STAYS CLOSED (IF THE FAULT IS NO LONGER APPARENT) THE SECTIONALISER WILL RETURN TO ITS NORMAL STATE AFTER THE RESET TIME WHICH IS
TYPICALLY 30 SECS. HOWEVER, IF THE FAULT PERSISTS THE LINE CURRENT WILL CONTINUE TO EXCEED ITS “ACTUATING CURRENT” AND THE LOGIC WILL PROCEED

TO COUNT SUBSEQUENT PMR OPENINGS.

THE NUMBER OF TIMES THE SECTIONALISER WILL REGISTER A FAULT WITHOUT DELATCHING IS DETERMINED BY THE NUMBER OF FAULT COUNTS AS EXPLAINED

ABOVE. THE NUMBER OF FAULT COUNTS IS ALSO FACTORY SET AND CANNOT BE CHANGED.

WHEN THE SET NUMBER OF COUNTS HAS BEEN REACHED, THE LOGIC CIRCUIT SENDS A SIGNAL TO THE CHEMICAL ACTUATOR WHICH ACTIVATES THE DELATCHING

MECHANISM. IT TAKES A MINIMUM OF 150ms FROM THE LAST COUNT ON THE SECTIONALISER, FOR THE DELATCHING MECHANISM TO OPERATE.

THE THREE PHASE SECTIONALISER PROVIDES THREE PHASE CIRCUIT ISOLATION IN THE EVENT OF ONE OR TWO OF THE SECTIONALISER LINKS DELATCHING UNDER

A FAULT CONDITION. THE DELATCHED SECTIONALISER AUTOMATICALLY OPERATES AN INTERPHASE TRIP MECHANISM WHICH CAUSES THE REMAINING SECTIONALISER

LINKS TO DELATCH. IT TAKES 680ms FOR THE INTERPHASE TRIP MECHANISM TO OPERATE AND DELATCH ALL LINKS, FROM THE TIME OF THE LAST OPENING OF

THE UPSTREAM PMR.

SELECTION AND APPLICATION OF AUTOMATIC SECTIONALISERS
SELECTION

TASNETWORKS WILL STOCK SECTIONALISERS RATED AT 24kV (150kKV BIL) WHICH CAN BE UTILISED AT BOTH 11kV AND 22kV LEVELS. THEY ARE RATED TO
CARRY CONTINUOUS CURRENT OF UP TO 250A.

AS SECTIONALISERS WILL BE USED MAINLY ON SPUR LINES, THE CONTINUOUS CURRENT CAPACITY IS NOT A CONSTRAINING CRITERION.

HOWEVER, CAREFUL PLANNING IS IMPORTANT IN SELECTING THE ACTUATING CURRENT, AS IT IS FACTORY FIXED.

D THE FOLLOWING CRITERIA NEED TO BE CONSIDERED WHEN SELECTING THE ACTUATING CURRENT:

1) THE ACTUATING CURRENT SHOULD BE GREATER THAN THE EXPECTED MAXIMUM CONTINUOUS CURRENT AT THE LOCATION WHERE SECTIONALISER IS TO BE
INSTALLED. CONSIDERING, OVERLOADING, LOAD GROWTH AND A REASONABLE MARGIN, 1.6 TIMES THE CONTINUOUS CURRENT IS AN ACCEPTABLE ESTIMATION.

2) THE ACTUATING CURRENT SHOULD BE LESS THAN THE MINIMUM AVAILABLE FAULT CURRENT AT THE END OF THE ZONE OF PROTECTION FOR THE
ASSOCIATED PMR ON THE PARTICULAR SPUR PROTECTED BY THE SECTIONALISER.
(THE MINIMUM FAULT CURRENT CALCULATED ASSUMING A RESISTANCE TO GROUND OF 10 OHMS.)
3) THE SECTIONALISER SHOULD BE SET TO OPERATE IN AT LEAST ONE LESS COUNT THAN THE ASSOCIATED PMR.
E 4) IN THE CASE OF THREE PHASE SECTIONALISERS, THE ASSOCIATED PMR SHOULD HAVE A RECLOSING INTERVAL (DEAD TIME) OF AT LEAST 1.2 SECS
IN THAT PARTICULAR CYCLE OF THE PMR, DURING WHICH TIME THE SECTIONALISER IS SET TO DELATCH. THE RECLOSING INTERVAL SHOULD ALSO BE
SHORTER THAN 25 SECS TO ENSURE THAT THE SECTIONALISER DOES NOT RESET AND THEREFORE RETAINS PRIOR COUNTS, UNDER FAULT CONDITIONS.

CONTINUED ON DRAWING D-OHC-E029-SD-002

F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWNG MAY BE REPRODUCED,

" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
» trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o |w
gl TasNetworks TTLE SCALE
-2 AUTOMATIC SECTIONALISER NOTES NTS
<|= (ABB - AUTOLINK)
o« ; ORAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO

o
Lol K= CHECKED BY H.WESTBURY AA
o
< b D - OHC - E028 - SD - 001
DATE APPROVED | 08/MAY/19 A

Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-41



Overhead Distribution Construction Manual Section 5

Automatic Sectionaliser Notes

1 | 2 | 3 4 5

CONTINUED FROM DRAWING D-OHC-E028-SD-001
APPLICATION

THE SELECTED SECTIONALISER WILL BE ACTUATED WHEN A CURRENT GREATER THAN THE ACTUATING CURRENT PASSES THROUGH. THE UPSTREAM PMR TIMING
MECHANISM WILL ALSO BE ACTIVATED TO OPEN AND RECLOSE AS PROGRAMMED. IN CASE OF A 2-FAST/ 2-SLOW RECLOSE SETTING AND 3-COUNT SETTING ON
THE SECTIONALISER, IF THE OVERCURRENT PERSISTS, THE SECTIONALISER WILL DELATCH AFTER THE THIRD OPENING TO ISOLATE THE SECTIONALISED SPUR
AND MAINTAIN SUPPLY TO THE MAIN FEEDER VIA THE PMR.

THE OPEN SECTIONALISER LINKS (SWUNG OPEN) WILL PROVIDE OPERATORS GOOD VISUAL INDICATION AS TO THE FAULTY SPUR. THE SECTIONALISER IS READY
TO BE PUT BACK ON LINE AFTER REPLACING SPENT ACTUATOR/S AND CLEARING THE FAULT. OTHER THAN REPLACING THE APPROPRIATE ACTUATOR, NO
FURTHER ADJUSTMENT IS REQUIRED. ACTUATORS (STANDARD ITEM FOR ALL UNITS) ARE HELD AS A STOCK ITEM. (23.63.35)

B THE AUTOMATIC SECTIONALISER IS DESIGNED TO OPEN AND CLOSE UNDER NO LOAD CONDITIONS. OPENING UNDER NO LOAD IS ENSURED WITH PROPER
COORDINATION WITH THE UPSTREAM PMR. TO ENSURE CLOSING ON NO LOAD, WHEN SELECTING SECTIONALISER LOCATIONS, DESIGNERS WILL HAVE TO PROVIDE
SUITABLE THREE PHASE SWITCHING ARRANGEMENTS FOR SPURS. HOWEVER, CONSIDERING LOCAL CONDITIONS, INSERTING THE THREE LINKS UNDER LOAD MAY BE
PERMITTED. WHEN THE TOTAL CONNECTED LOAD ON THE SPUR DOES NOT EXCEED 1000 kVA AT 22kV OR 600kVA AT 11kV. IN SUCH CASE THE OPERATOR
SHOULD INSERT THE THREE LINKS IN SUCCESSION AS QUICKLY AS POSSIBLE IN A SAFE MANNER TO MINIMISE THE POSSIBLE EFFECTS OF SINGLE PHASING.

(SEE SECTION ON HV FUSES, IN OPERATING MANUAL FOR POLE MOUNTED SWITCHGEAR)

INSTALLATION OF AUTOMATIC SECTIONALISER

FOR DETAILS OF SECTIONALISER INSTALLATION, REFER TO DRAWINGS D-OHC-E030-SD-001 AND D-OHC-E035-SD-001 FOR THE THREE PHASE AND SINGLE PHASE
C SECTIONALISERS RESPECTIVELY.

CORRECT ACTUATOR

ACTUATORS THAT MATCH THE BRAND OF SECTIONALISER MUST ALWAYS BE USED. ACTUATORS INTENDED FOR OTHER MAKES OF SECTIONALISERS MAY FIT
1 PHYSICALLY BUT WILL NOT OPERATE CORRECTLY.

DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
ABN: 24 167 357 299 PRIOR OF TASNETWORKS

SCALE

"AUTOMATIC SECTIONALISER NOTES NTS
(ABB - AUTOLINK)
DRAWN (5 PRO-SOLUTIONS

DESIGNED BY ELECTRO AA

CHECKED BY H.WESTBURY
APPROVED BY - REVISION

DATE APPROVED | 08/MAY/19 D - O H [ - E O 2 8 - S D - O O 2 A

TasNetworks m

ORIGINAL ISSUE

ALTERATIONS

Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-42



Overhead Distribution Construction Manual

Section 5

5.7.2

Automatic Sectionaliser 3 Phase (ABB — Autolink)

1 I 2 I

3 | 4 | 5

A

B

C

D
ACTUATOR
THE CHEMICAL ACTUATIOR DERIVES SUFFICIENT ENERGY TO UNLATCH
THE MECHANISM DURING THE CIRCUIT DEAD TIMES THUS PROVIDING
POSITIVE OPERATION WITHOUT COMPROMISING THE STABILITY OF THE
UNIT UNDER NORMAL CIRCUIT OPERATIONS.

E
THE REPLACEABLE ACTUATOR PROVIDES EXTREMELY RELIABLE
OPERATION BY MEANS OF A SMALL ELECTRIC CURRENT CONVERTING
CHEMICAL ENERGY INTO MECHANICAL MOVEMENT WHICH DELATCHES
THE SECTIONALISER.
THE ACTUATOR IS COMPLETELY SAFE TO HANDLE AND THERE ARE
NO SPECIAL STORAGE OR TRANSPORTING REQUIREMENTS.

F

PERFORMANCE CHARACTERISTICS

SYSTEM VOLTAGE

LIGHTNING IMPULSE WITHSTAND VOLTAGE (BIL)

RATED CONTINUOUS OPERATING CURRENTS

G * ACTUATING CURRENT (+10%) (SEE NOTE)

RESET TIME (£15%)

DEADLINE DETECTOR THRESHOLD FOR MIN 0.1 sec (HOLD OFF CURRENT)
MINIMUM REQUIRED CONTINUOUS OPERATING CURRENT

SHORT TIME CURRENT WITHSTAND

* NUMBER OF FAULT COUNTS (SEE NOTE)

RESPONSE TIME

H| NOTE

THESE ARE SET IN THE FACTORY.

UPPER CONTACT

ACTUATING CURRENT
& NUMBER OF FAULT
COUNTS PRINTED ON
TUBE

CONDUCTIVE TUBE

PRINTED CIRCUIT BOARD

CURRENT TRANSFORMER

—LOWER CONTACT

ACTUATOR (REPLACEABLE)

ABB S.I. 23.63.35

24 kV

150 kVp

250 Amps

5, 10, 15, 20, 40, 56, 80, 112, 160 or
30 sec typ

0.3 Amps

0 Amps

6 kA sym for 1 sec

1to 7

50 msecs

224 Amps

* FACTORY ADJUSTABLE OPTIONS TO STANDARD UNIT. (ADDITIONAL VALUES AVAILABLE ON REQUEST)

PLEASE QUOTE ACTUATING CURRENT AND NUMBER OF FAULT COUNTS REQUIRED, AS

DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED

T i Net ks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,

0 O i a2 Yoirorss i
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w TITLE SCALE
-2 TasNetworks AUTOMATIC SECTIONALISER NTS
<|= THREE PHASE (ABB - AUTOLINK)
o <Z( DRAWN (5 PRO-SOLUTIONS
w E DESIGNED BY ELECTRO
- g (HECKED BY H.WESTBURY A L
:(. APPROVED BY - _ REVISION

DATE APPROVED | 08/MAY/19 D - O H C E O 2 9 - S D - 0 O ,I A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-43




Overhead Distribution Construction Manual

Section 5

5.7.3 AK Power Automatic Sectionaliser — In-line

1 | 2 | 3 | 4
A
= (o)
— - J A\ . =\/
B
— (a4 [T}
o =z
£2S- =
= 3;@ ol &8>
=] = =g
CExs 5 gs
=L
C S |2
ozt
e
w
S
— POSSUM GUARD
TO BE FITTED.
D
I
E ——
3
- Ll
AK POWER |
SECTIONALISER - H— -
- 2
@ | :
] TR
I
— 75p X868 X 82A
G
s —
H
APL Nos
SEC/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
SEC/22/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWNG MAY BE REPRODUCED,
" STORED N A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o |y SCALE
2 TasNetworks TITLE
-2 W AK POWER AUTOMATIC SECTIONALISER 130
<|2 INLINE - 11kV OR 22kV
x|Z DRAWN (5 PRO-SOLUTIONS
w (S DESIGNED BY ELECTRO
[~ 4
Ll IS CHECKED BY HWESTBURY AL
- APPROVED BY REVISION
< — — — —
DATE APPROVED | 13/MAY/19 D O H [ E O 3 O S D O O W A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-44



Overhead Distribution Construction Manual

Section 5

AK Power Automatic Sectionaliser — In-line — Materials List

| | 3 | 4 5
A Unit Assembly Store Type [ ltem Ref| Stock Item |Stock Item Description Quantity
SEC/11/3/PLM S 59A 322721 |Pin,Insulator 22kV 1
SEC/22/3/PLM 60E 320531 |Insulator Pin 22/450 1
| 6A 323315 |Insulator Bracket Mk15 1
excludes HV strain construction 75N 32288 |BoltHexM16 X350 4
11KV or 22kV 75P 32289 |BoltHexM16 X375 4
75Z 32261 |BoltHexM16 X45 4
B 77B 33771 Bolt Tower M12 X35 4
82A 40441 |NutM16 4
86B 65158 |Washer Els 16 2
— 88A 66412 |Washer Tower 12 4
88B 66413 |Washer Tower 16 4
235714 |Sectionaliser 3-ph 24kV (without Tubes) 1
C 236335 |Actuator to suit ABB Sectionaliser 3
D
E
F
€
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 fradng Gs TosNatuarks B A T LT
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y TLE SCALE
-3 TasNetworks AK POWER AUTOMATIC SECTIONALISER NTS
< <_(' DRAWN (5 PRO-SOLUTIONS ‘NL‘NE - }Hkv OR 22kv
x|z - MATERIALS LIST
w = DESIGNED BY ELECTRO AA
Lol S CHECKED BY H.WESTBURY
2 APPROVED BY REVISION
< — — — —
DATE APPROVED | 08/MAY/19 D O H [ E O 3 O S D O O 2 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-45



Overhead Distribution Construction Manual

Section 5

5.7.4 AK Power Automatic Sectionaliser — Tee-Off

| 2 | 3 | 4 5
A g
B
L5 _ |
S_ |2
(—_— =358 _lw
TwZ X o|x
xx>S mMmiE
2lESS ~ZF
slgeg  |©
ozt |2
e
C 5
/ -+ ya - ° NS
— \®
POSSUM GUARD
TO BE FITTED.
D
% g
E ————— : 2 R
3
2
— AK POWER
SECTIONALISER
-
- 2
F
=l
h
53 HELICAL TERMINATION TO
> SUIT CONDUCTOR SIZE/TYPE
G
| 888 ) 75Z
75N 86B 82A
_—
H
APL Nos
SECT/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
SECT/22/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
N STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
2z TasNetworks TITLE SLALE
I AK POWER SECTIONALISER - TEE OFF 130
<|2 1kV OR 22kV
@ Z DRAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY ELECTRO
o
Ll IS (HECKED BY H.WESTBURY AA
< Sk D - OHC - EO031 - SD - 007
DATE APPROVED | 13/MAY/19 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-46



Overhead Distribution Construction Manual Section 5
AK Power Automatic Sectionaliser — Tee-Off — Materials List
1 | 2 | 3 | 4 | 5
A Unit Assembly Store Type | ltem Ref| Stock Item [Stock Item Description Quantity
SECT/11/3/PLM S 3 323310 |Strain Plate Mk10 2
SECT/22/3/PLM 1E 323305 [Crossarm Mk5 2
55C 146618 |Dee Clamp for 7.5 to 16.25mm Dia AL ACSR/GZ (19/2.00 Cu Tail) - 355mm Long 3
includes tee-off xarm 55E 144955 |Parallel groove clamp (7.5-17.5mm Bi metal) 3
excludes top HV construction 59A 322721 |Pin,Insulator 22kV 1
11kV or 22kV 60E 320531 [Insulator Pin 22/450 1
B 60G 321260 |Insulator Disc Porcelain 16mm 70kN 146mm 6
61A 322056 |Ball Clevis & Pin 16mm 3
61B 322386 |Socket Termination 16mm 3
61D 322090 [Kink Pin 16mm 18
6A 323315 |Insulator Bracket Mk15 1
75N 32288 [Bolt HexM16 X 350 2
75Z 32261 Bolt HexM16 X 45 4
77B 33771 [Bolt Tower M12 X35 4
C 82A 40441 Nut M16 4
86B 65158 |WasherEls 16 2
88A 66412 |Washer Tower 12 4
88B 66413 |Washer Tower 16 4
— 235714 |Sectionaliser 3-ph 24kV (without Tubes) 1
236335 |Actuator to suit ABB Sectionaliser 3
2A 323314 |Crossarm Strap Mk14 4
D
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
. STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
4 trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
ol TasNetworks e SCHE
|3 AK POWER SECTIONALISER - TEE OFF NTS
<|z prr MkV OR 22kV
DRAWN (5 PRO-SOLUTION
x|z MATERIALS LIST
w S DESIGNED BY | ELECTRO AA
: © CHECKED BY H.WESTBURY
= — D- OHC - E031 - SD - 002 | A
DATE APPROVED | 08/MAY/19 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-47



Overhead Distribution Construction Manual

Section 5

5.7.5 Sectionaliser with Vertical ABS on Same Side of Pole

| 2 | 3 | b | 5
7 0 INCOMING
A = - \ 1/ - =\ {
63V 3
LT
B '
I
I\ m I\
— M 82B 76B 87E
HeTY AK POWER
SECTIONALISER
S59A 60E
C IR
6A >,I,
| a2
82A ‘
I
|
‘ LINK STICK OPERATED
D ! /RD[KER TYPE HANDLE
Al
| I— > I
|
‘ POSSUM GUARD
! TO BE FITTED.
E |
= Fy-
I
|
‘ GROUND LEVEL
F IS SS S S S
EARTH ELECTRODE
REFER SECTION 12.6
L1 FOR EARTHING DETAILS e
L
1. IF WITHIN 1.2 km OF A ZONE SUBSTATION USE 120mm' COPPER 0.6/1kV PVC INSULATED EARTH WIRE.
G OUTSIDE THIS LIMIT USE 70mm' COPPER 0.6/1kV PVC INSULATED EARTH WIRE.
H
APL Nos
REFERENCE DRAWINGS SECABS/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
D-0HC-G031-SD-001, D-OHC-J017-SD-001 SECABS/22/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
n STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
» trading as TasNetworks OR TRANSMTTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
w TIE SCALE
-2 TasNetworks VERTICAL AIR BREAK SWITCH - 145
<|= - AK POWER SECTIONALISER - IN SERIES
ORAWN (5 PRO-SOLUTIONS
E ON SAME SIDE OF POLE
w = DESIGNED BY ELECTRO AL
Ll IS CHECKED BY H.WESTBURY
- APPROVED BY REVISION
< - — — -
DATE APPROVED | 13/MAY/19 D O H [ E O 3 2 S D O O T A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-48



Overhead Distribution Construction Manual Section 5

Sectionaliser with Vertical ABS on Same Side of Pole — Materials List

1 | 2 | 3 | A | 5
Unit Assembly Store Type | Iltem Ref| Stock Item |Stock Item Description Quantity
A SECABS/11/3/PLM S 59A 322721 |Pin,Insulator 22kV 1
SECABS/22/3/PLM 60E 320531 |Insulator Pin 22/450 1
excludes top HV construction 63V 235708 |Switch Air-Break 24kV Unitised Horiz or Vert c/w Arc-Chutes - AK Power 1
— 11kV or 22kV 6A 323315 |Insulator Bracket Mk15 1
75N 32288 |BoltHexM16 X350 4
75P 32289 |BoltHexM16 X375 2
75Z 32261 Bolt HexM16 X45 4
B 77B 33771 Bolt Tower M12 X35 4
82A 40441 Nut M16 4
86B 65158 |Washer Els 16 6
| 88A 66412 |Washer Tower 12 4
88B 66413 |Washer Tower 16 4
235714 |Sectionaliser 3-ph 24kV (without Tubes) 1
236335 |Actuator to suit ABB Sectionaliser 3
C
D
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THS DRAWING MAY BE REPRODUCED,
. STORED IN A RETREVAL SYSTEM N ANY FORM,
» trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
2 TasNetworks T SIALE
-2 VERTICAL AIR BREAK SWITCH NTS
<|z prype AK POWER SECTIONALISER - IN SERIES
DRAWN (5 PRO-SOLUTION
x|Z ON SAME SIDE OF POLE
w2 DESIGNED BY [ ELECTRO A[}
Lol S CHECKED BY H.WESTBURY
- e D- OHC - E032 - SD - 002 | A
DATE APPROVED | 08/MAY/19 A

Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-49



Overhead Distribution Construction Manual

Section 5

5.7.6 Sectionaliser with Vertical ABS on Opposite Side of Pole

1 | 2 | 3 | 4 | 5
INCOMING J
)= {1/ —\
A o
2
- s 2
-4 ' § } S
i i ~
B
i
- *
C
LINK STICK OPERATED
—t ROCKER TYPE HANDLE
D %
| POSSUM GUARD
TO BE FITTED.
E
F
GROUND LEVEL
EARTH ELECTRODE
REFER SECTION 12.6
FOR EARTHING DETAILS
G
H
APL Nos
REFERENCE DRAWINGS SECABS/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
D-OHC-G031-SD-001 SECABS/22/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
n STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o |w
w TILE SCALE
C |32 TasNetworks SECTIONALISER AND VERTICAL ABS ON 140
<|= OPPOSITE SIDES OF POLES
« <z( DRAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
[~
Lol K= CHECKED BY H.WESTBURY AL
< e D - OHC - EO033 - SD - 007
DATE APPROVED | 13/MAY/19
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-50



Overhead Distribution Construction Manual Section 5

Sectionaliser with Vertical ABS on Opposite Side of Pole — Materials List

1 | 2 | 3 | 4 | 5
A Unit Assembly Store Type | Item Ref| Stock ltem |Stock Item Description Quantity
SECABS/11/3/PLM S 59A 322721 |Pin,Insulator 22kV 1
SECABS/22/3/PLM 60E 320531 [Insulator Pin 22/450 1
excludes top HV construction 63V 235708 |Switch Air-Break 24kV Unitised Horizor Vert c/w Arc-Chutes - AK Power 1
— 11KV or 22kV 6A 323315 [Insulator Bracket Mk15 1
75N 32288 Bolt HexM16 X350 4
75P 32289 |BoltHexM16 X375 2
B 752 32261 |BoltHexM16 X45 4
77B 33771 |Bolt Tower M12 X35 4
82A 40441 Nut M16 4
86B 65158 |Washer Els 16 6
— 88A 66412 |Washer Tower 12 4
88B 66413 |Washer Tower 16 4
235714 |Sectionaliser 3-ph 24kV (without Tubes) 1
C 236335 |Actuator to suit ABB Sectionaliser 3
D
E
F
€
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
@© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
! STORED IN A RETREVAL SYSTEM IN ANY FORM,
v trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y TILE SCALE
-2 TasNetworks SECTIONALISER AND VERTICAL ABS NTS
<|Z . - ON OPPOSITE SIDES POLES
DRAWN (5 PRO-SOLUTION:
S E MATERIALS LIST
w = DESIGNED BY ELECTRO AA
: © CHECKED BY HWESTBURY
< g D- OHC - E033 - SD - 002
DATE APPROVED | 08/MAY/19

Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-51



Overhead Distribution Construction Manual

Section 5

5.7.7 Sectionaliser with Horizontal Bypass ABS

1 | 2 | 3 | A 5
63V 35)
A
| l_'i | T 1
5 / el
ko | 4
iz 1
- (e 868 )Y 75N =
o AK POWER
C SECTIONALISER
LINK STICK OPERATED
D %RO[KER TYPE HANDLE
POSSUM GUARD
TO BE FITTED.
E
F
GROUND LEVEL
G
EARTH ELECTRODE
REFER SECTION 12.6
FOR EARTHING DETAILS N—
BY-PASS SWITCH ARRANGEMENT WHEN LINE USED FOR INTERCONNECTIONS
H WHEN FULL FEEDER LOAD MAYBE APPLIED
APL Nos
REFERENCE DRAWINGS SECABSB/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
D-0HC-E033-5D-001, D-OHC-G031-SD-001 SECABSB/22/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THS DRAWING MAY BE REPRODUCED,
0 frdng a5 Tosketuors e R IR o A T
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o (Y TITE SCALE
-2 TasNetworks HORIZONTAL BYPASS AIR BREAK SWITCH 145
<|= AK POWER SECTIONALISER - IN LINE
o« ; ORAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
Ll g (HECKED BY H.WESTBURY AL
2 APPROVED BY REVISION
< p— — p— —
DATE APPROVED | 13/MAY/19 D O H [ E O 3 [4' S D O O W A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-52



Overhead Distribution Construction Manual Section 5

Sectionaliser with Horizontal Bypass ABS — Materials List

1 | 2 | 3 | 4 5
Unit Assembly Store Type |Item Ref|Stock ltem |Stock Item Description Quantity
A SECABSB/11/3/PLM S 59A 322721 |Pin,Insulator 22kV 1
SECABSB/22/3/PLM 60E 320531 |Insulator Pin 22/450 1
excludes top HV strain construction 60G 321260 |[Insulator Disc Porcelain 16mm 70kN 146mm 12
11kV or 22kV 61A 322056 |Ball Clevis & Pin 16mm 6
61B 322386 |Socket Termination 16mm 6
61D 322090 |Kink Pin 16mm 6
63V 235708 |[Switch Air-Break 24kV Unitised Horiz or Vert c/w Arc-Chutes - AK Power 1
B 6A 323315 [Insulator Bracket Mk15 1
75N 32288 [Bolt HexM16 X350 2
75P 32289 [BoltHexM16 X375 2
752 32261 |[BoltHexM16 X45 4
1 82A 40441  |NutM16 4
86B 65158 |WasherEls 16 6
88B 66413 |Washer Tower 16 4
C 235714 [Sectionaliser 3-ph 24kV (without Tubes) 1
236335 |Actuator to suit ABB Sectionaliser 3
D
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
. STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
w trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR P OF TASNETWORKS
o (Y SCALE
2 TasNetworks TTE
—|a HORIZONTAL BYPASS AIR BREAK SWITCH NTS
<|2 - AK POWER SECTIONALISER - IN LINE
DRAWN (5 PRO-SOLUTIONS
x|z MATERIALS LIST
w = DESIGNED BY ELECTRO AA
=4
Ll S CHECKED BY H.WESTBURY
< o D- OHC - EO034 - S 00
DATE APPROVED | 08/MAY/19 - - - D - 2 A

Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-53



Overhead Distribution Construction Manual

Section 5

5.7.8 Single Phase Sectionaliser

1 | 2 | A 5
A
FOR DETAILS OF HV STRAIN
] CONSTRUCTION REFER SECTION 3.8
2
— | / + ° s ° +
3
B il
3
7777777777777 5 [C— y
X [*)
wsS _ =z
£25 =
SozE s|g3
C gEEE “|zs
2|E E & S
b — o [ =
oat = €D
Ty
D
E
AK POWER SECTIONALISER
'
F POSSUM GUARD o]
TO BE FITTED. i
|
}
|
|
- |
|
|
|
b <]
|
|
G :
|
e
NOTES: i
|
|
1. FOR STEEL/CONCRETE POLE SUBSTITUTE ITEM |
7SE FOR ITEM 7SN. |
SECTION /A
H -
APL Nos
REFERENCE DRAWINGS SEC/N1/1 DIMENSIONS ARE IN MILLIMETRES
D-0HC-G031-SD-001 SEC/22/1 UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWNG MAY BE REPRODUCED,
N STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
w trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 R OF TASNETWORKS
o |y SCALE
2 TasNetworks TITLE
& SINGLE PHASE SECTIONALISER 130
< |2 1kV OR 22kV
@ 2 DRAWN (5 PRO-SOLUTIONS
w |8 DESIGNED BY | ELECTRO
=4
: © CHECKED BY | H.WESTBURY AL
< — D - OHC - E035 - SD - 007
DATE APPROVED | 13/MAY/19 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-54



Overhead Distribution Construction Manual Section 5

Single Phase Sectionaliser — Materials List

1 | 2 | 3 A 5
Unit_Assembly| Store Type | ltem Ref|Stock ltem Description Quantity
A SEC/11/1 S 75N 032286 |Bolt Hex M16 X 350 3
SEC/11/1 S 77A 033770 |Bolt Tow er M12 X 30 3
SEC/11/1 S 7B 033771 Bolt Tow er M12 X 35 1
SEC/11/1 S 86B 065158 |Washer Bs 16 1
SEC/11/1 S 88A 066412 |Washer Tower 12 4
— SEC/11/1 S 2A 323314 |Crossarm Strap Mk14 2
SEC/11/1 S 236335 |Actuator to suit ABB Sectionaliser 2
SEC/11/1 S 1D 323304 [Crossarm Mk4 1
SEC/11/1 S 2B 323317 [Crossarm Strap Mk17 1
B SEC/22/1 S 75N 032286 |Bolt Hex M16 X 350 3
SEC/22/1 S 77A 033770 |Bolt Tow er M12 X 30 3
SEC/22/1 S 7B 033771 Bolt Tow er M12 X 35 4
SEC/22/1 S 86B 065158 |Washer Hs 16 1
] SEC/22/1 S 88A 066412 [Washer Tower 12 4
SEC/22/1 S 60G 321260 |Insulator,Disc 8
SEC/22/1 S 2A 323314 |Crossarm Strap Mk14 2
SEC/22/1 S 236335 |Actuator to suit ABB Sectionaliser 2
C SEC/22/1 S 1D 323304 [Crossarm Mk4 1
SEC/22/1 S 2B 323317 [Crossarm Strap Mk17 1
D
E
F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
. TORED IN A RETREVAL SYSTEM IN ANY FORM,
s trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w SCALE
2 TasNetworks TITLE
-8 SINGLE PHASE SECTIONALISER T
— (2 NTS
< |2 1MkV OR 22kV
I~ 2 DRAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY | ELECTRO
o
=|e CHECKED BY | HWESTBURY Al
-
< - D - OHC - E035 — SD - 002 | A
DATE APPROVED | 08/MAY/19 A

Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-55



Overhead Distribution Construction Manual Section 5
5.8 Load Break Switches
5.8.1 Manual NGK Load Break Switch Below HV Strain Construction
| 2 | 3 | l | 5
(806 (A (618 Y610 788 X888 )
77A 88A 1E
A INCOMING = N OUTGOING
R
Y — . =+ w“‘t\ﬁ /_T
_ ]
(s & \ 180mmCOVERED &)
| s CONDUCTOR [
e (SUPPLIED WITH
SWITCH)
B
78B
828
] 86C
— CONNECTIONS ARE @
MIRRORED OTHER &
SIDE OF SWITCH
C
it
D
L / 12M 6kN POLE
E
51D
] 268 )
EARTH ELECTRODE e POSS UM GUARD )
MAXIMUM EARTH REFER 10 DRG
RESISTANCE=10 OHMS DOH1-0730-50-001
F
SWITCH STATUS
1 INDICATOR ARM
G e i
e
H
2 T i Net ks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED
1l INE L © ety oo b e s
= & § 2le|2 ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
S gzl SCALE
- |2E AHHY TasNetworks |\ ™\ 51 | 0AD BREAK SWITCH/SECTIONALISER NTS
< |23 JH 11kV OR 22kV INLINE
MEE. DR HHEsTERY STRAIN UNDERSLUNG
w 8|55 DESIGNED BY M.MURPHY
x|z~ HEE ALP
=1e e HHAEE CHECKED BY | S.FOSTER
: 2 8|z f E APPROVED BY | AKETLEY OHC _ R REVISION
%éi HARE DATE APPROVED | 85/SEPT/2023 D B HC - oné SD B OO] B
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-56



Overhead Distribution Construction Manual Section 5

Manual NGK Load Break Switch Below HV Strain Construction — Materials List

1 | 2 | 3 | L | 5
Unit Assembly Store Type | ltem Ref| Stock Item [Stock Item Description Quantity

A LBSWW/11/3/PLM S 119F 225772 |Lightning Arrester (NOT L/L TESTED) ABB 11kV 10kA c/w bird cap & M12 studs 6
35P 141299 |Lug Bolted 16mm? 12 hole 6

51P 94184 |Wire Electrical Cu 70mm? 1c Black 6

| 55E 144955 |Parallel groove clamp (7.5-17.5mm Bi metal) 12
75M 32287 |BoltHexM16 X325 3

76B 32338 |BoltHex M20 X350 2

77A 33770 |BoltTower M12 X 30 4

B 78D 33783 |BoltTower M16 X50 4
82A 40441 NutM16 2

82B 40442 [NutM20 2

L 86B 65158 [Washer Els 16 2
86C 65159 [Washer Els 20 2

88A 66412 [Washer Tower 12 4

88B 66413 Washer Tower 16 4

( 157891 |Redback sleeving 20mm dia (per 10m coll) 1
235730 [Load Break Switch 11kV Manual N-A 1

LBSWW22/3/PLM S 119G 225773 |Lightning Arrester (NOT L/L TESTED) ABB 22kV 10kA c/w bird cap & M12 studs 6

I 35P | 141299 |Lug Bolted 16mmZ 12 hole 6
51P 94180 |Wire Electrical Cu 70mm? 1¢ Black 6
55E 144955 |Parallel groove clamp (7.5-17.5mm Bi metal) 12

D 75M 32287 |BoltHexM16 X325 3
76B 32338 |BoltHex M20 X350 2

77A 33770 |BoltTower M12 X30 4

78D 33783 |BoltTower M16 X 50 4

] 82A 40441  [NutM16 2
82B 40442  [NutM20 2

86B 65158 |Washer Els 16 2

E 86C 65159 |Washer Els 20 2
88A 66412 |Washer Tower 12 4

88B 66413 |Washer Tower 16 4

157891 |Redback sleeving 20mm dia (per 10m coil) 1

| 235733 |Load Break Switch 22kV Manual N-A 1

F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
[%] .
] © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
S ; STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
v 3 ] trading as TasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
z & 3 o ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
° 18]y B TasNetworks T SCAE
AL §§Ew§w§ MANUAL LOAD BREAK SWITCH NTS
2 LTl
<|2l%  Eosaps - S BELOW HV STRAIN CONSTRUCTION
w AWN -SOLUTION:
EIER MATERIALS LIST
w222 DESIGNED BY | ELECTRO AL
T 1°Plee|lm| | s CHECKED BY | HMESTBLRY
- 5 eke 2>
2y o [BEE x(E APPROVED BY | A KETLEY REVISION
< = ESERER<E - - - -
i3z ggﬁﬁgfg: DATE APPROVED | 08/MAY /19 D OHC E036 SD 002 B

Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-57



Overhead Distribution Construction Manual

Section 5

5.8.2 Manual NGK Load Break Switch Tee-Off to UG Cable

| | 3 | . 5
) COMING OUTGOING
A & =
= = =z
— = .’7’ = —
e S
E M n
| 1 EEE
e -
2 o |
ZE Ny
IL:A
El 35
e 12
= e
& =2/ ) ) S
c = @Q =y LOAD EREAK SWITCH Mgy, 4
= ECTIGNALISER
+ I No. 23.57.33-22 -——
\ I No. 23.5 [ i
N, ¢+ ] <l Fph
[ B
- -8
0 e
|
-
= =
L ]
W
7
[ THOoCH—1—
TOP VIEW
¢ 35 HE o
EARTH ELECTRODE HD GI BOLT OH CORDUCTOR
REFER SECTION 12.4 .y )
FOF E—FTH!'-[] DETAIL ¢ 4 | ¢ E %fl_] ~F ===
| mm’ U UITAELE SIVE PGSSUM GUARD
T EIVETAL T BE FITTED
G CAELE = COMPRESSION LUG REFER TO DRG
F —_— [-0H1=0730-50-
[ TERMINATION BAFR
WITAELE SIVE ==n I No 30354
METAL i NLUG
BIMETAL COMPRESSION LUG CABLE BRACKET
| ®
- DETAIL ( >
[ ]
0 v (] o
B S
- i
\,‘ L OTES
WITEH STATUS INDICATOR ARV TO FACE ROAD SIDE
FEFER SECTION 12.5 FOR DETAILS OF EARTHIG ARRANGEMENT
H DETAIL < )
AFL Nos:
LBSWM 3/PL DIVENSIONS ARE IN MILLIMETRE
LBSWM 3/PL UNLESS OTHERWISE STATED
o) —— - [0 PART OF THIS DR=4ING 1121 BE REPRODUCED
~ = ©I°'d",'°m°'? Tr_-f. ”rfl' FIT' LTD ?DI"EDI.U— PHEITME .LI YSTEM IN ANY ?0;]'
8 Olz|n|m rading as 1asNerworks OR TRANSMITTED BY ANV MEANS WITHOUT THE
- HE ABN: 24 167 357 299 PRIOR PEPISSION OF TASNET//ORk
=0 3 Qu|= (s [AlE
S| 2 {55 TasNetworks Tme -
L Y astietwor ANUAL LOAD BREAK SWITCH T
a ol E i fE | kv OR 72kv TEE OFF TO U/G CABLE
o 1 g OR&wN 5 PRO-SOLUTIC
=] " GESIGNED B ELECTRO |
=S| w HIEE] CKED _
© Bloo 5552 CHECKED B1 | HWESTEURY _
- o slalz AFFROVED BY | 4 FETLEY _ - - _ _ o
ée TREL DATE 4PFROVED | 19/¥41 [l "Ht E ) |:| E
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-58



Overhead Distribution Construction Manual Section 5
Manual NGK Load Break Switch Tee-Off to UG Cable Materials List
! ] 2 [ 3 I L [ 5
Unit Assembly Store Item Stock Stock Item Description Quantity
A Type Ref Item
LBSWM/11/3/PLM S
75M 32287 |Bolt Hex M16 X 325 3
76B 32338 |Bolt Hex M20 X 350 2
T 77A 33770 | Bolt Tower M12 X 30 4
78D 33783 | Bolt Tower M16 X 50 4
82A 40441 |NutM16 2
B 828 40442 |Nut M20 2
86B 65158 | Washer Els 16 2
86C 65159 | Washer Els 20 2
88A 66412 | Washer Tower 12 4
I 88B 66413 | Washer Tower 16 4
323364 |Load Break Switch 11kV Manual N-A 1
LBSWM/22/3/PLM S 6
75M 32287 |Bolt Hex M16 X 325 3
C 76B 32338 | Bolt Hex M20 X 350 2
77A 33770 |Bolt Tower M12 X 30 4
78D 33783 | Bolt Tower M16 X 50 4
L 82A 40441 | NutM16 2
82B 40442 |Nut M20 2
86B 65158 | Washer Els 16 2
86C 65159 | Washer Els 20 2
D 88A 66412 Washer Tower 12 4
88B 66413 | Washer Tower 16 4
323364 |Load Break Switch 22kV Manual N-A 1
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
&’ © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BF REPRODUCED,
» 5l frading as TasNefworks OR TRANSHITIED BY. ANY MEANS WITbOUT THE
= . E é g § ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y |- @|2|5 s
oA S HE TasNetworks | ™)\ AL LOAD BREAK SWITCH e
< |2l nqEl A 11kV OR 22kV TEE OFF TO U/G CABLE
@ 2 :ﬁ DRAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY ELECTRO
’:, & é m é % g % CHECKED BY H.WESTBURY AL
HEEE LPPROVED BY | A KETLEY REVISION
B % g § ; ili DATE APPROVED | 08/¥AY/18 D - OHC - E037 - SD - 002 B
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-59



Overhead Distribution Construction Manual

Section 5

5.8.3 Manual Schneider / Nulec RL27 Load Break Switch Tee-Off to UG Cable

1 | 2 | 3 | 4 | 5
A INCOMING OUTGOING
| . W
\ g
B [N 180mm*  COVERED
CONDUCTOR
(SUPPLIED WITH SWITCH)
E {
22
=
— El -
& g
;g S| kv (C19F TINNED LUG
=ly OR
|2
c E% 22kv(1196 )
z . il
SCHNEIDER/NULEC RL27
+ LOAD BREAK SWITCH/ T
SECTIONALISER
— S.l. No. 23.57.33-22kV
S.l. No. 23.57.30-11kV
2
D s
z
=
pu
z
£
S
w
&
2
L
E
e N
EARTH ELECTRODE y 1\
REFER SECTION 12.6 _-(@v@]"
FOR EARTHING DETAILS
( MIN 70mm’ CU) TOP VIEW POSSUM GUARD
M12 x 35 HEX TO BE FITTED.
HD GI BOLTS OH CONDUCTOR
F
UG CABLE SUITABLE SIZE
BIMETAL
SUITABLE SIZE
BIMETAL COMPRESSION LUG
COMPRESSION LUG
— TERMINATION BAR
S.I. No 30.35.67
CABLE BRACKET
DETAIL
G
NOTES
1. SWITCH STATUS INDICATOR ARM TO FACE ROAD SIDE.
H DETAIL
APL Nos
LBSWM/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
LBSWM/22/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
n STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
» trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o |w
A TasNet: k TITLE SCALE
-2 ashetworks SCHNEIDER/NULEC -MANUAL LOAD BREAK SWITCH | yTg
<|= 11kV OR 22kV TEE OFF TO U/G CABLE
a <z( DRAWN (5 PRO-SOLUTIONS
w |8 DESIGNED BY ELECTRO
[~
Lol K= CHECKED BY H.WESTBURY AA
< e D - OHC — EO037 - SD - 001
DATE APPROVED | 13/MAY/19
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-60



Overhead Distribution Construction Manual Section 5

Manual Schneider / Nulec RL27 Load Break Switch Tee-Off to UG Cable — Materials
List

1 | 2 | 3 | 4 | 5
Unit Assembly Store Type | ltem Ref| Stock ltem | Stock ltem Description Quantity
A LBSWM/11/3/PLM S 119F 225772 |Lightning Arrester (NOT L/L TESTED) ABB 11kV 10kA c/w bird cap & M12 studs 6
35P 141299 |Lug Bolted 16mm? 12 hole 6
51C 94180 |Wire Electrical Cu 50mm? 1c Black 6
55E 144955 |Parallel groove clamp (7.5-17.5mm Bi metal) 12
| 75M 32287 Bolt HexM16 X325 3
76B 32338 [Bolt Hex M20 X 350 2
T7A 33770 Bolt Tower M12 X 30 4
B 78D 33783 Bolt Tower M16 X 50 4
82A 40441 Nut M16 2
82B 40442 Nut M20 2
86B 65158 [Washer Els 16 2
— 86C 65159 |Washer Els 20 2
88A 66412 |Washer Tower 12 4
88B 66413 |Washer Tower 16 4
157891 [Redback sleeving 20mm dia (per 10m coil) 1
¢ 235730 |Switch L/Brkr LBS RL27 11kV Manual N-A 1
LBSWM/22/3/PLM S 119G 225773 |Lightning Arrester (NOT L/L TESTED) ABB 22kV 10kA c/w bird cap & M12 studs 6
1 35P 141299 |Lug Bolted 16mm? 12 hole 6
51C 94180 |Wire Electrical Cu 50mm? 1c Black 6
55E 144955 |Parallel groove clamp (7.5-17.5mm Bi metal) 12
75M 32287 Bolt HexM16 X325 3
D 76B 32338 Bolt Hex M20 X 350 2
T7A 33770 [Bolt Tower M12 X 30 4
78D 33783 [Bolt Tower M16 X 50 4
L 82A 40441 Nut M16 2
82B 40442  |NutM20 2
86B 65158 [Washer Els 16 2
86C 65159 [Washer Els 20 2
E 88A 66412 |Washer Tower 12 4
88B 66413 |Washer Tower 16 4
157891 |Redback sleeving 20mm dia (per 10m coil) 1
235733 |[Switch L/Brkr LBS RL27 22kV Manual N-A 1

F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» trading as TasNetworks R TRASHITTED BY. ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy SCALE
=] TITLE
-2 TasNetworks SCHNEIDER/NULEC-MANUAL LOAD BREAK SWITCH | NTs
<|2 1kV OR 22kV TEE OFF TO U/G CABLE
a ; DRAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
o
= e CHECKED BY | HMESTBURY AL
< e D - OHC - E037 - SD - 002 | A
DATE APPROVED | 08/MAY/19 A

Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-61



Overhead Distribution Construction Manual

Section 5

5.8.4 Remotely Controllable Schneider / Nulec RL27 Load Break Switch Below

HV Strain Construction

1 | 2 |

FOR DETAILS OF HV STRAIN
CONSTRUCTION REFER SECTION 3.8

1000

NB. FIT ANTENNA
T0 SIDE OPPOSITE
OF HINGES T

C CELLULAR PHONE

ELEVATED FEED
ANTENNA (CD1225
OR (D1250) ON

72

— (GME-MB403SS)

22kV (119G ]
1

MOUNTING BRACKET
CONTROL CUBICLE \@N

INCOMING

OUTGOING

180mm* COVERED
CONDUCTOR-LEADS
SUPPLIED WITH SWITCH

S.I. No. 23.57.33 LBS 22kV

OR S.I. No. 23.57.30 LBS 1kV
CELLULAR PHONE ELEVATED FEED
ANTENNA (CD1225 OR CD1250) ON
OR H—  MOUNTING BRACKET
(GME-MB403SS)

al CONTROL CUBICLE IS
MOUNTED AT 45 DEGREES

TO KEEP MOUNTING
BOLT CLEAR OF CABLE

REFER SECTION 12.6
FOR EARTHING DETAILS
(MIN 70mm2 CU) \ EARTH DOWNLEAD —
D 5
N POSSUM GUARD
1 TO BE FITTED.
E i
<z | QDL‘
F
G
NOTES
1. MOUNT LOAD BREAK SWITCH (LBS) ON ROAD SIDE OF THE POLE
— FOR BEST ACCESS/VISIBILITY.
H
APL Nos
CLBSWA/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
CLBSWA/22/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v trading as TasNetworks OR TRANSMTTED B ANY NEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w THLE SCALE
-2 TasNetworks REMOTELY CONTROLLABLE SCHNEIDER/NULEC RL27| NTg
<|z — — LOAD BREAK SWITCH/SECTIONALISER
«|= - BELOW HV STRAIN CONSTRUCTION
w = DESIGNED BY ELECTRO AA
Ll IS CHECKED BY H.WESTBURY
b APPROVED BY REVISION
<< — — — p—
DATE APPROVED | 13/MAY/19 D O H [ E O 3 8 S D O O W A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-62




Overhead Distribution Construction Manual Section 5

Remotely Controllable Schneider / Nulec RL27 Load Break Switch Below HV Strain
Construction — Materials List

1 | 2 | 3 | 4 | 5
Unit Assembly Store Type | ltem Ref | Stock Item |Stock Item Description Quantity
CLBSWA/11/3/PLM S 119F 225772 |Lightning Arrester (NOT L/L TESTED) ABB 11kV 10kA c/w bird cap & M12 studs
35P 141299 [Lug Bolted 16mm? 12 hole
A 51C 94180 |Wire Electrical Cu 50mm? 1c Black
60H 320735 [Insulator Raychem standoff 24kV set of 3
73F 32191 Bolt HexM10 X 100
75M 32287 |Bolt HexM16 X325
i 75N 32288 Bolt Hex M16 X 350
76B 32338 |Bolt HexM20 X350
T7A 33770 |Bolt Tower M12 X 30
78D 33783 Bolt Tower M16 X 50
B 82A 40441 Nut M16

82B 40442  [NutM20

84B 50226 |Coach Screw M10 X65

86B 65158 |Washer Els 16

86C 65159 [Washer Els 20

87B 65614 |Washer Ns 10

88A 66412 |Washer Tower 12

88B 66413 |Washer Tower 16

9C 322063 [Standoffinsulator bracket for u/g cables

40439  [NutM10

133155 [Plug TNC (to suit RG58U Cable)

133157 |Mounting Bracket

133158 |Connector Crimp Type - Male

133159 |Cable Coaxial for Protection Unit with connectors & earth stud
133174 |Cable CAT5E Blue Ethernet Type Patch Lead 1m Long
231320 |[Isolation Switch 250V Outdoor 2 Pole 20 Amp

235732 |LB Switch/Sect Nulec 22kV with Cubicle etc - Auto Control

D 303569 |[Copper "T" Bar for S/Off Insulators or L/A's to HV Cables or HVABC
990800 [External VT Nulec 11kV c/w Pole Mtg Bracket & HV/LV Tails

B o e S S 0 N R N I LS S I SN LS N R ST R0 K R Y e Y K

— CLBSWA/22/3/PLM S 119G 225773 |Lightning Arrester (NOT L/L TESTED) ABB 22kV 10kA c/w bird cap & M12 studs 3
35P 141299 |Lug Bolted 16mm? 12 hole 6
51C 94180 |Wire Electrical Cu 50mm? 1c Black 12
60H 320735 [Insulator Raychem standoff 24kV setof 3
E 73F 32191 Bolt HexM10 X100
75M 32287 Bolt HexM16 X 325
75N 32288 |BoltHexM16 X350
76B 32338 [Bolt Hex M20 X 350
77A 33770 Bolt Tower M12 X 30
| 78D 33783 |Bolt Tower M16 X 50
82A 40441 NutM16
82B 40442  [NutM20
84B 50226 [Coach Screw M10 X65
F 86B 65158 [WasherEls 16
86C 65159 |Washer Els 20
87B 65614 |Washer Ns 10

88A 66412 |Washer Tower 12

— 88B 66413 |Washer Tower 16

9C 322063 [Standoffinsulator bracket for u/g cables

40439 NutM10

133155 |[Plug TNC (to suit RG58U Cable)

G 133157 |Mounting Bracket

133158 |Connector Crimp Type - Male

133159 |Cable Coaxial for Protection Unit with connectors & earth stud
133174 |Cable CAT5E Blue Ethernet Type Patch Lead 1m Long
231320 |[Isolation Switch 250V Outdoor 2 Pole 20 Amp

235735 |LB Switch/Sect Nulec 22kV with Cubicle etc - Auto Control
303569 |Copper "T" Bar for S/Off Insulators or L/A's to HV Cables or HVABC
990801 |[External VT Nulec 22kV c/w Pole Mtg Bracket & HV/LV Tails

BN BN N N N N R Y I R N Y I Y Y B Y Y ENEN LY IR paa ey

H

DIMENSIONS ARE IN MILLIMETRES

UNLESS OTHERWISE STATED

© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v trading as TasNetworks OR TRANSHITTED B ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy TITLE SCALE
-2 TasNetworks REMOTELY CONTROLLABLE SCHNEIDER/NULEC RL27| \7s
<|z LOAD BREAK SWITCH/SECTIONALISER
o= e o ST BELOW HV STRAIN CONSTRUCTION
w = DESIGNED BY ELECTRO AA
: © CHECKED BY H.WESTBURY
< APPROVED BY _ _ _ _ REVISION
DATE APPROVED | 08/MAY/19 D O H [ E O 3 8 S D O O 2

Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-63



Overhead Distribution Construction Manual

Section 5

5.8.5 Remotely Controllable Schneider / Nulec RL27 Load Break Switch Tee-Off

to UG Cable

| 2 | 3 | 4 | 5
59A X 60E
A INCOMING OUTGOING
% E% %+ AUXILLARY TRANSFORMER
— = - — — MOUNTED AT 45 DEGREES
- TO SWITCH. (VT)
 — <<
=
£ | _
= 8
= AUXILIARY ]|
B = TRANSFORMER
()] 3 ! 180mm’  COVERED
> \ { CONDUCTOR
L \ - (SUPPLIED WITH SWITCH)
7 ; =
<< AP W
= -
g e
z
= 1kv (119F
E= OR ‘
= 22kv (119G
C 2 |
Zln SCHNEIDER/NULEC RL27 FULLY i
S|E + AUTOMATIC LOAD BREAK SWITCH/ | |
A~ — SECTIONALISER i
W S.l. No. 23.57.32- 11kV i TINNED LUG
= + S.. No. 23.57.35- 22kV T
] g | SEE D-0OHC-G026-SD-001
2 (75M X868 ) ' FOR SURGE DIVERTER
R NB. FIT ANTENNA _ f CONNECTION
TO SIDE OPPOSITE — CELLULAR PHONE 1=
OF HINGES ELEVATED FEED . SHEATH EARTH
ANTENNA. (CD1225 | (IF SPECIFIED) 70mm’ Cu
D 2 OR cD12501 on —t PVC INSULATED EARTH
£ MOUNTING BRACKET (| :’;EREOJSSE@EQ‘*MS;EURODE(S’
& 82A (GME-MBL03SS)
L == 1
pu =
=
1 = - CONTROL CUBICLE IS
= CONTROL CUBICLE - MOUNTED AT 45 DEGREES
= m | L+ TO0 KEEP MOUNTING
= 1 BOLT CLEAR OF CABLE
] DETAIL AUX SUPPLY CABLE
FROM VT
E ‘ | =l _H
I
o ~C - 12m 6kN POLE
i
(o8- nes
° ° BT L 1
2 Y ' 1
UNDERSIDE i i :m/- =
ACCESS PLATE AUX SUPPLY . <
EARTH ELECTRODE . &
REFER SECTION 12.6 o) SCEM  TERMINAL BLOCK / =
FOR EARTHING DETAILS DETAIL 'C’ o =
F EXTERNAL VT - 2
SCEM CONNECTION | =
o
=
EARTH CONDUCTOR TO BE -
70mm’ Cu PVC INSULATED =
AND CONNECTED TO SURGE POSSUM GUARD
DIVERTER EARTH (CABLE BRACKET) TO BE FITTED.
AND EARTH ELECTRODE(S). REFER TO DRG
(EARTH RESISTANCE 10 OHMS MAX) D-0H1-0730-5D-001
SWITCH STATUS
G INDICATOR ARM
— NOTES
1. SWITCH STATUS INDICATOR ARM TO FACE ROAD SIDE.
2. ENSURE THAT THE AUXILLARY TRANSFORMER IS CONNECTED TO
THE INCOMING LINE.
H
DETAIL APL Nos
CLBSWA/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
(LBSWA/22/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THS DRAWING MAY BE REPRODUCED,
N STORED IN A RETREEVAL SYSTEM IN ANY FORM,
v trading as TasNetworks TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
Z 132 TasNetworks TITLE SCALE
] SCHNEIDER/NULEC RL27 FULLY AUTOMATED - NTS
<|zZ —_ TR REMOTELY CONTROLLABLE LOAD BREAK SWITCH/
- % DESIGNED BY ELE[TRé SE[T‘ONAL‘SER
w | =
il = 11kV OR 22kV TEE OFF TO U/G CABLE Ak
CHECKED BY H.WESTBURY
- APPROVED BY REVISION
< — — — —
DATE APPROVED | 15/MAY/19 D O H [ E O 3 9 S D O O W A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-64



Overhead Distribution Construction Manual Section 5

Remotely Controllable Schneider / Nulec RL27 Load Break Switch Tee-Off to UG
Cable — Materials List

1 | 2 | 3 | 4 | 5
Unit Assembly Store Type | ltem Ref| Stock Item | Stock Item Description Quantity
CLBSWA/11/3/PLM S 119F 225772 |Lightning Arrester (NOT L/L TESTED) ABB 11kV 10kA c/w bird cap & M12 studs 3
A 35P 141299 [Lug Bolted 16mm? 12 hole 6
51C 94180 |Wire Electrical Cu 50mm? 1c Black 12
60H 320735 |Insulator Raychem standoff 24kV set of 3
73F 32191 Bolt HexM10 X 100
75M 32287 |BoltHexM16 X325
| 75N 32288 |BoltHexM16 X350

76B 32338 [Bolt Hex M20 X 350
T7A 33770 |Bolt Tower M12 X30
78D 33783 |Bolt Tower M16 X 50

B 82A 40441 |NutM16
82B 40442 |Nut M20
84B 50226 [Coach Screw M10 X65

86B 65158 |Washer Els 16
86C 65159 |Washer Els 20
87B 65614 |Washer Ns 10

88A 66412 |Washer Tower 12
88B 66413 |Washer Tower 16
9C 322063 [Standoffinsulator bracket for u/g cables

40439  |NutM10

133155 |Plug TNC (to suit RG58U Cable)

133157 [Mounting Bracket

133158 |Connector Crimp Type - Male

1 133159 |Cable Coaxial for Protection Unit with connectors & earth stud
133174 |[Cable CAT5E Blue Ethernet Type Patch Lead 1m Long

231320 |[Isolation Switch 250V Outdoor 2 Pole 20 Amp

235732 |LB Switch/Sect Nulec 22kV with Cubicle etc - Auto Control

D 303569 |Copper "T" Bar for S/Off Insulators or L/A's to HV Cables or HVABC
990800 |External VT Nulec 11kV c/w Pole Mtg Bracket & HV/LV Tails

[N PR NG IR NS NS Y NN £-)) [N N NS IR IR PR NS RS O (RS (PSS EIO) [FR) ER) ER) N

CLBSWA/22/3/PLM S 119G 225773 |Lightning Arrester (NOT L/L TESTED) ABB 22kV 10kA c/w bird cap & M12 studs 3
| 35P 141299 |[Lug Bolted 16mm? 12 hole 6
51C 94180 |Wire Electrical Cu 50mm? 1c Black 12
60H 320735 |Insulator Raychem standoff 24kV set of 3
73F 32191 Bolt HexM10 X100
E 75M | 32287 [BoltHexM16 X325

75N 32288 |BoltHexM16 X350
76B 32338 |Bolt HexM20 X350
T7A 33770 |Bolt Tower M12 X 30

— 78D 33783 |Bolt Tower M16 X 50
82A 40441 NutM16
82B 40442  |[Nut M20
84B 50226 |Coach Screw M10 X65
F 86B 65158 |Washer Els 16
86C 65159 |Washer Els 20
87B 65614 |Washer Ns 10
88A 66412 |Washer Tower 12

88B 66413 |Washer Tower 16

1 9C 322063 |Standoffinsulator bracket for u/g cables

40439  |NutM10

133155 [Plug TNC (to suit RG58U Cable)

133157 |Mounting Bracket

G 133158 [Connector Crimp Type - Male

133159 [Cable Coaxial for Protection Unit with connectors & earth stud
133174 |[Cable CAT5E Blue Ethernet Type Patch Lead 1m Long
231320 [Isolation Switch 250V Outdoor 2 Pole 20 Amp

235735 [LB Switch/Sect Nulec 22kV with Cubicle etc - Auto Control
303569 |Copper "T" Bar for S/Off Insulators or L/A's to HV Cables or HVABC
990801 [External VT Nulec 22kV c/w Pole Mtg Bracket & HV/LV Tails

[N Ay N N N N N NN I N N N Y Y Y Y Y RS FY R A B R S

H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o O g a5 Toshtworss SR TRANSHITTED B ANY NEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o (w Tt SCALE
-2 TasNetworks SCHNEIDER/NULEC RL27 FULLY AUTOMATED- NTS
<|= REMOTELY CONTROLLABLE LOAD BREAK SWITCH/
=z — SECTIONALISER 11kV OR 22kV TEE OFF TO U/G
|- CABLE - MATERIALS LIST AL
i CHECKED BY H.WESTBURY
< APPROVED BY _ _ _ _ REVISION
DATE APPROVED | 08/MAY/19 D O H [ E O 3 9 S D O O 2

Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-65



Overhead Distribution Construction Manual

Section 5

5.8.6 Manual NGK Over-the-top Load Break Switch

1 | 2 | 3 | 4
A
B
INCOMING OUTGOING |
— e S
E I o
D
NGK POLE TOP MOUNT - STAINLESS STEEL
FRONT VIEW SCALE 140
: l
JI N
T
||
F 1
G NGK POLE TOP MOUNT - STAINLESS STEEL
SIDE VIEW SCALE %40
H
T ian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 O iy o Toarearc A AL ST
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
-2 TasNetworks LOAD BREAK SWITCH/SECTIONALISER NTS
< |2 11kV OR 22kV INLINE
E el STRAIN - ABOVE POLE MOUNT OF LBS
S ’ .
w |2 BPLPALIL Al
~|S SFOSTER A
AKETLEY
. 26/EPT/ 2003 D - OHC - E046 - SD - 001 A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-66



Overhead Distribution Construction Manual Section 5

Manual NGK Over-the-top Load Break Switch Materials List

\ 2 | 3 | b 5
Unit Assembly Store Item Stock Stock Item Description Quantity
A Type Ref Item
LBSWM/11/3/PLM S
75M 32287 Bolt Hex M16 X 325 3
76B 32338 Bolt Hex M20 X 350 2
[ 77A 33770 Bolt Tower M12 X 30 4
78D 33783 Bolt Tower M16 X 50 4
82A 40441 Nut M16 2
B 82B 40442 Nut M20 2
86B 65158 Washer Els 16 2
86C 65159 Washer Els 20 2
88A 66412 Washer Tower 12 4
- 88B 66413 | Washer Tower 16 4
323364 |Bracket Mounting Pole Top 1
323364 |Load Break Switch 11kV Manual N-A 1
LBSWM/22/3/PLM S 6
¢ 75M 32287 Bolt Hex M16 X 325 3
76B 32338 Bolt Hex M20 X 350 2
77A 33770 Bolt Tower M12 X 30 4
[ 78D 33783 Bolt Tower M16 X 50 4
82A 40441 Nut M16 2
82B 40442 Nut M20 2
86B 65158 | Washer Els 16 2
3] 86C 65159 | Washer Els 20 2
88A 66412 | Washer Tower 12 4
88B 66413 | Washer Tower 16 4
323364 |Bracket Mounting Pole Top 1
| 323364 |Load Break Switch 22kV Manual N-A 1
£
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
i / NO PART OF THIS DRAWING MAY BE REPRODUCED,
o © e % Toteoia i s
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
= |2 TasNetworks MANUAL LOAD BREAK SWITCH -
< |2 i e [ kv OR 22KV INLINE -
= — STRAIN - ABOVE POLE MOUNT OF LBS N
=le CHECKED BY | X.X000XX MATERIALS LIST +
- APPROV A REVISION
<‘ st o D - OHC - E046 - SD - 001 A

Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-67



Overhead Distribution Construction Manual

Section 5

5.9 Poletop Steelwork Details

5.9.1 LVABC Fuse Switch Bracket

1 | 2 | 3 4 5
A
; S
H feN
| 1 - D-—— @15 HoLes
C : o4
@18 HOLES R16
| 20 | 230 ‘
| 295
ITEM 29E
D MARK 87 - LV ABC FUSE SWITCH BRACKET
MATERIAL: 40x6 FLAT BAR 490 LONG TO AS/NZS 3679.1-300
S.l. No. 32.33.87
E
F
G
H NOTE
1. HOT DIP GALVANIZE TO AS/NZS 4680 DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v trading as TasNetworks OR TRANSHITTED 87 ANY HEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o |y TITLE SCALE
-2 TasNetworks SWITCH/FUSE/RECLOSER COMPONENTS 15
<|z - POLE TOP STEELWORK DETAILS
«|= A Al LVABC FUSE SWITCH BRACKET
w = DESIGNED BY ELECTRO A["
Ll IS CHECKED BY HWESTBURY
= APPROVED BY REVISION
< — — — —
DATE APPROVED | 15/MAY/19 D O H [ E O L’ O S D O O W A
Rev. 2.1 Switches, Fuses, Reclosers and Sectionalisers Page 5-68



Section 5

Overhead Distribution Construction Manual

5.9.2 NGK Load Break Switch Mounting Detail

l - = €202/L435/9
ls1n 3y B _”_ - U_ M - |__I___ - _u AU __I
C Elky 7086 DIMYID SUINY 2 g |-
- JL7 L1d J3ONTILS DN F -
L | HILMG ST0- 137dd 133LS SSIMITL Ty i
. ONLLNAOA 3104 314 2 ONLNAOW 401 3104 5| syromganser 2|z
1= 667 LSE £91 ¥T ‘N&v =
i
L S N ETEREY
M
AR T —
i
=
P4l
N[ = ] 5
1 37
sowsod o ad 1) sdoes Jppue L
P oc p Al [
405 by 14 '
4
1108 ONIM 404 I
X ¢¢e 107
_ 3
[ 1]
- n
L1
]
LSTIOH 0L ¥ ST LW-
\o¥d @3 L7108 W 1
$L816 SY (TIBNISSY Shi8IE !
148 ONILN
[N L gl
1 T f+ :
(— 1 .*I_ LA vy y_‘\u ]
= ¥ WUISZL NIHLM S|
| 40 NOULYIOT [
e
€ PR TR E ] )
[ ; [ [ [

Page 5-69

Switches, Fuses, Reclosers and Sectionalisers

Rev. 2.1



